TOOLING

SYSTEM

POWER MILLING

'I/G
. POWERMILLING CHUCK (QUICK CHANGE)
SCHNELLWECHSEL GEGENSTUCK FUR FRASERSPANNFUTTER
CHANGEMENT RAPIDE ETUI AVECPORTE-FRAISE ET CLEF YG - 1 TOO LI N G SYSTE M
BT DB%[ CAMBIO RAPIDO CASSETTA COMPLETA DI MANDRINO, CHIAVE E PINZE
© NTACT) CAMBIO RAPIDO ESTUCHE CON PORTAPINZAS, PINZAS Y LLAVE
BT
(JIS B633Y/
MAS 403)
HSK
(DIN 69893/
1SO 12164)
STRAIGHT
ISO,NT,
MTAMTB,
GOST
TOOL
Q.C MILLING Qc Q.c Q.CFACE |Q.CDRILL| DRILL
TAPER | HOLDER SET MASTER | MILLING Ec%?.m% MILL | CHUCK | CHUCK Q;CLEQ";:R
SB%F%CA% MODEL No. HOLDER | CHUCK ARBOR BAR | ARBOR
SMH40-T35-32A  P2773307 MH40-T35 | QT35-32  K32-(6-25)(7pcs) | QT35-4R - K32-J6 - MH40 SP
NT40 Pe GrasTa TECHNICAL INFORMATION (SMALL BORE)
ACCESSORY SMH40-T35-32B | P2773308 = MH40-T35 QT35-32 | K32-(6-25)(7pcs) QT35-4R | QT35-J6 5 > a ~ MH40SP
L SMH50-T45-32A  P2773309 MH50-T45 | QT45-32  K32-(6-25)(7pcs) | QT45-5R K32-J6 - MH50 SP BASIC HOLDER
SMH50-T45-32B | P2773310 | MH50-T45 QT45-32 | K32-(6-25)(7pcs) QT45-5R = QT45-J6 - QT4§—2AT2: MH50 SP
TS0 MH50-T45-42A  P2773311  MHS0-T45 | QT45-42  K42-(6-32)(8pcs) | QT45-5R K42-J6 - MHS50 SP FINE BORING HEAD & INSERT HOLDER
SMH50-T45-42B | P2773312 | MH50-T45 QT45-42 | K42-(6-32)(8pcs) QT45-5R = QT45-J6 - QT435-2AT2' MH50 SP
: ROUGH BORING HEAD & CARTRIDGE
0.DTAPER € QCMASTER HOLDER
\ MODELNo. |  EDPNo. | ODTAPER | LDTAPER | DRAWTHREADS EXTENSION BAR
MH40-T35 P2773313 NT40 NT35 U5/8-11(M16-2)
MH50-T45 P2773314 NT50 NT45 U1-8 (M24-3) REDUCTION BAR
D TAPER € Q.CMILLING CHUCK
QCMASTERHOLDER MODEL No. EDP No. TYPICAL CONFIGURATION OF FINE BORING BAR
MH40 QT35-C32 P2773315
SO TAPER MH50 QT45-C32 P2773316
MH50 QTas-Ca2 p2773317 TYPICAL CONFIGURATION OF ROUGH BORING BAR
@ QCFACE MILL ARBOR TECHNICAL INFORMATION (BIG BORE)
QT35-3R P2773318
QT35-5R P2773320
QT45-3R P2773321 FINE BORING HEAD (BIG BORE)
o g
Qras- PLATE & CARTRIDGE (BIG BORE)
QT45-6R P2773324
T No 4 Q.CTAPER SLEEVE FINE BORING BAR (BIG BORE)
M ' QCMASTERHOLDER MODEL No. EDP No.
- ‘!| i QT35-MTT P2773325
‘Hﬁ I | MH40 QT35-MT2 P2773326 ROUGH BORING BAR (BIG BORE)
QT35-MT3 P2773327
QT45-MT1 P2773328 MICRO BORING BAR
MHS0 QT45-MT2 P2773329
JTNo. Qr4s-MT3 P2773330 SQUARE BORING BAR
|==l’ | |!} S QT45-MT4 P2773331
- ==
' |  Q.C DRILL CHUCK ARBOR
QCMASTERHOLDER MODEL No. EDP No. DRILL (@)
MH40 QT35-J6 P2773332 1-13mm
MH50 QT45-J6 P2773333 1-13mm
D248 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D249




TECHNICAL INFORMATION
FINE & ROUGH BORING BAR (SMALL BORE)

Rough Boring Head '

ol

Fine Boring Head

'— Cartridge
Basic Holder ) e
Rough Boring Head '

Extension Bar i

=
5
for EXTENSION .

Rough Boring Head '

Reduction Bar — i
L ﬁ — Fine Boring Head
s
' i

for REDUCTION

Fine Boring Range : 20mm~154mm

FEATURE

« Easy assembly and wide expandability

« Precise boring range adjustment by adjustment Dial with 1/700mm unit

- Ease to adjust length by employing modular system to use extension bar
with various size

- Double rigid fixing of extension bar with

- Side locking

- Fixing pin inside

- Design to use insert conforming to I1SO standard

- Basic Holder, Extension Bar and Reduction Bar interchangeable
between Fine Boring Bar and Rough Boring Bar

Rough Boring Range : 25mm~156mm

FEATURE

« Easy to replace head
« Extension Bar : Adjusting length according to machining conditions
+ Reduction Bar : Adjusting boring range according to machining conditions
« Precision of extension, reduction, and repeatability of assembling
and disassembling of Boring Head
- Using insert conforming to ISO standard
« Basic Holder, Extension Bar and Reduction Bar interchangeable
between Fine Boring Bar and Rough Boring Bar

D250 prhone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions /G YG-1CO, LTD.

G YG-1CO,LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D251



TOOLING

SYSTEM

SK
(DIN 69871)

CBT
BT DUAL

CONTACT)

BT
(JIS B633Y/
MAS 403)

HSK
(DIN 69893/

1SO 12164)

STRAIGHT

ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
& PARTS

- BASIC
7S

FINE & ROUGH BORING BAR (SMALL BORE)

FIG.1
—[pe=
@S No.
FIG.2 s FIG3
M L S No.
7z ’ "/ S No.
SK AD
SK (DIN 69871/ISO 7388-1)
Unit: mm
TAPER No. MODEL No. EDP No. S No. D L (¢} FIG. |WEIGHT (Kg)
SK40-S11-72 P2900001 1 185 72 M5x0.8 1 -
SK40-S14-42.5 P2900002 14 235 425 M5x0.8 2 =
SK40-514-82.5 P2900003 14 235 82.5 M5x0.8 2 -
SK40-518-44 P2900004 18 31 44 M8x1.0 2 =
SK40-518-94 P2900005 18 31 94 M8x1.0 2 -
40 SK40-522-43 P2900006 22 39 43 M8x1.0 2 =
SK40-522-88 P2900007 22 39 88 M8x1.0 2 -
SK40-528-48 P2900008 28 50 48 M10x1.0 2 =
SK40-536-64 P2900009 36 64 64 M16x1.5 3 -
SK40-546-95 P2900010 46 920 95 M16x1.5 3 =
SK50-511-102 P2900011 1 18.5 102 M5x0.8 1 -
SK50-S14-52.5 P2900012 14 235 525 M5x0.8 2 =
SK50-S14-112.5 P2900013 14 235 1125 M5x0.8 2 -
SK50-S18-54 P2900014 18 31 54 M8x1.0 2 =
SK50-518-124 P2900015 18 31 124 M8x1.0 2 -
SK50-522-58 P2900016 22 39 58 M8x1.0 2 =
SK50-522-178 P2900017 22 39 178 M8x1.0 2 -
SK50-528-63 P2900018 28 50 63 M10x1.0 2 =
>0 SK50-528-105 P2900019 28 50 105 M10x1.0 2 -
SK50-528-183 P2900020 28 50 183 M10x1.0 2 =
SK50-528-228 P2900021 28 50 228 M10x1.0 2 -
SK50-536-94 P2900022 36 64 94 M16x1.5 2 =
SK50-536-169 P2900023 36 64 169 M16x1.5 2 -
SK50-536-229 P2900024 36 64 229 M16x1.5 2 S
SK50-546-93 P2900025 46 90 93 M16x1.5 3 -
SK50-546-243 P2900026 46 90 243 M16x1.5 3 =

» The Basic Holder interchangeable between Fine Boring and Rough Boring bar.
» The Basic Holder, Boring Head & Insert Holder must be ordered separately.

- BASIC
7S

FINE & ROUGH BORING BAR (SMALL BORE)

D252

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

%G YG-1CO, LTD.

FIG.1 . }
=2
B S No.
G
FIG.2 s FIG3
L S No.
— ") L @S No.
BT
BT (JIS B6339/MAS403/ISO 7388-2)

Unit: mm
TAPER No. MODEL No. EDP No. S No. D L (c] FIG. |WEIGHT (Kg)

BT30-S11-72 P2901001 1 185 72 M5x0.8 1 -

BT30-S14-37.5 P2901002 14 235 375 M5x0.8 2 -

BT30-514-82.5 P2901003 14 235 825 M5x0.8 2 -

BT30-S18-39 P2901004 18 31 39 M8x1.0 2 -

30 BT30-518-79 P2901005 18 31 79 M8x1.0 2 -

BT30-522-38 P2901006 22 39 38 M8x1.0 2 =

BT30-522-73 P2901007 22 39 73 M8x1.0 2 -

BT30-528-63 P2901008 28 50 63 M10x1.0 3 -

BT40-S11-72 P2901009 1 18.5 72 M5x0.8 2 -

BT40-S14-42.5 P2901010 14 235 42.5 M5x0.8 2 =

BT40-514-82.5 P2901011 14 235 825 M5x0.8 2 -

BT40-S18-44 P2901012 18 31 44 M8x1.0 2 -

BT40-S18-94 P2901013 18 31 94 M8x1.0 2 -

40 BT40-522-43 P2901014 22 39 43 M8x1.0 2 =

BT40-522-88 P2901015 22 39 88 M8x1.0 2 -

BT40-528-48 P2901016 28 50 48 M10x1.0 2 -

BT40-528-79 P2901017 28 50 79 M10x1.0 2 -

BT40-S36-64 P2901018 36 64 64 M16x1.5 3 =

BT40-546-90 P2901019 46 920 90 M16x1.5 3 -
» The Basic Holder interchangeable between Fine Boring and Rough Boring bar. P NEXT PAGE

» The Basic Holder, Boring Head & Insert Holder must be ordered separately.

4G YG-1CO.,, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions 253

TOOLING
SYSTEM

SK
(DIN 69871)

CBT
BT DUAL
ONTACT)

BT
JIS B6339/
AS 403)

HSK
(DIN 69893/

1SO 12164)

STRAIGHT

ISO, NT,
MTA/MTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
& PARTS



TOOLING

TOOLING

SYSTEM SYSTEM

'I/G BASIC 'I/G BASIC
onees FINE & ROUGH BORING BAR (SMALL BORE) FINE & ROUGH BORING BAR (SMALL BORE) -
CBT CBT
BT DUAL BT DUAL
CONTACT) ONTACT)
(IS 86338& : : EjITS B6339/
MAS 403) FIG.1 - } FIG.1 == AS 403)
HSK V/ B R HSK
(DIN 69893/ Il ° ° (DIN 69893/
1ISO 12164) ISO 12164)
LV ] | TV
STRAIGHT . ¢S Ho. 55 o, STRAIGHT
G
FIG.2 a FIG.3 FIG.2 s FIG.3 G
I\/I‘TSA?M’T\IBT' mYi mYin ‘l\ﬁ?N’AVATTB
) =t =i T T ,
GOST ‘/ ‘/ , = = GOST
TOOL e e \ N . TOOL
HOLDER e = ! = HOLDER
SET x ! 1 SET
a\l a\l \ '
BORING ) o516 T = BORING
SYSTEM : . #S No. L #S No. SYSTEM
JIS // P g:g DIN g:é L 95 No.
ACCESSORY B6339- & | %% 69893- %44 ACCESSORY
& PARTS BT AD HSK AD & PARTS
BT (JIS B6339/MAS403/I1SO 7388-2) HSK-A (DIN 69893/I1SO 12164)
Unit: mm Unit: mm
TAPER No. MODEL No. EDP No. S No. D L (c} FIG. |WEIGHT (Kg) TAPER No. MODEL No. EDP No. S No. D L G FIG. |[WEIGHT (Kg)
BT50-S11-102 P2901020 11 18.5 102 M5x0.8 1 - HSK40A-S11-72.5 P2902001 11 185 72.5 M5x0.8 2 -
BT50-S14-52.5 P2901021 14 23.5 52.5 M5x0.8 2 - HSK40A-514-39.5 P2902002 14 235 39.5 M5x0.8 2 =
BT50-514-112.5 P2901022 14 235 1125 M5x0.8 2 - HSK40A-514-84.5 P2902003 14 235 84.5 M5x0.8 2 -
BT50-S18-54 P2901023 18 31 54 M8x1.0 B ) 40A HSK40A-S18-45 P2902004 18 31 45 M8x1.0 2 -
BT50-S18-124 P2901024 18 31 124 M8x1.0 2 - H§K4°A'S 18-80 P2902005 18 31 8 M8x1.0 2 -
BT50-522-58 P2901025 2 39 58 M8x1.0 5 : HSK40A-S22-53 P2902006 22 39 53 M8x1.0 3 -
BT50-522-118 P2901026 2 39 118 MBx1.0 ) HSK40A-S22-73 P2902007 22 39 73 M8x1.0 3 -
it - § HSK50A-511-72.5 P2902008 11 185 725 M5x0.8 2 -
LEL AR 2002 22 0 e 2SI 2 - HSK50A-514-84.5 P2902009 14 235 845 M5x0.8 2 -
>0 BT50-528-63 P2901028 28 >0 63 M10x1.0 2 - 50A HSK50A-518-80 P2902010 18 31 80 M8x1.0 2 -
BT50-528-108 P2901029 28 50 108 M10x1.0 2 - HSK50A-$22-73 P2902011 22 39 73 M8x1.0 3 _
BT50-528-183 P2901030 28 50 183 M10x1.0 2 - HSK50A-S28-83 P2902012 28 50 83 M10x1.0 3 -
BT50-528-228 P2901031 28 50 228 M10x1.0 2 - HSK63A-S11-77.5 P2902013 11 18.5 77.5 M5x0.8 2 -
BT50-536-94 P2901032 36 64 94 M16x1.5 2 - HSK63A-514-89.5 P2902014 14 235 89.5 M5x0.8 2 -
BT50-S36-169 P2901033 36 64 169 M16x1.5 2 - HSK63A-S18-100 P2902015 18 31 100 M8x1.0 2 -
BT50-536-229 P2901034 36 64 229 M16x1.5 5 - 63A HSK63A-522-93 P2902016 22 39 93 M8x1.0 2 -
BT50-546-93 P2901035 46 90 93 M16x1.5 5 _ HSK63A-528-83 P2902017 28 50 83 M10x1.0 2 -
BT50-546-243 P2901036 46 90 243 M16x1.5 2 - HSKE3A-536-79 P2902018 36 64 79 M16xT1.5 3 .
HSK63A-S46-100 P2902019 46 90 100 M16x1.5 3 -
» The Basic Holder interchangeable between Fine Boring and Rough Boring bar. HSK100A-S11-102.5 P2902020 11 185 102.5 M5x0.8 1 -
» The Basic Holder, Boring Head & Insert Holder must be ordered separately. HSK100A-S14-114.5 P2902021 14 235 1145 M5x0.8 1 B
HSK100A-S18-125 P2902022 18 31 125 M8x1.0 1 -
HSK100A-522-118 P2902023 22 39 118 M8x1.0 2 -
HSK100A-522-178 P2902024 22 39 178 M8x1.0 2 -
HSK100A-528-108 P2902025 28 50 108 M10x1.0 2 -
100A HSK100A-S28-183 P2902026 28 50 183 M10x1.0 2 -
HSK100A-528-228 P2902027 28 50 228 M10x1.0 2 -
HSK100A-S36-94 P2902028 36 64 94 M16x1.5 2 -
HSK100A-S36-169 P2902029 36 64 169 M16x1.5 2 -
HSK100A-S36-229 P2902030 36 64 229 M16x1.5 2 -
HSK100A-S46-123 P2902031 46 90 123 M16x1.5 2 -
HSK100A-S46-273 P2902032 46 90 273 M16x1.5 2 -
» The Basic Holder interchangeable between Fine Boring and Rough Boring bar.
» The Basic Holder, Boring Head & Insert Holder must be ordered separately.
D254 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D255




TOOLING

SYSTEM

SK
(DIN 69871)

CBT
BT DUAL

CONTACT)

BT
(JIS B6339/
MAS 403)

HSK
(DIN 69893/

1ISO 12164)

STRAIGHT

ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
&PARTS

- FINE BORING HEAD
I/G & INSERT HOLDER

FINE BORING BAR (SMALL BORE)

FEINBOHRHALTER
ALESAGE PROFOND
BARRE DI ALESATURA FINE
BARRA DE MANDRINADO FINO
od
S No.

| INSERT

R HOLDER i
o
Bore Range ¢D
€ FINE BORING HEAD Unit: mm
S11-FBH20-24 P2903001 FBH20-1 @20~24 185 325
S14-FBH24-31 P2903002 FBH24-1 ©23.9~31.1 14 235 35
S18-FBH31-40 P2903003 FBH31-1 ©30.9~40.1 18 30 40
$22-FBH40-51 P2903004 FBH40-1 ?39.9~51.1 2 38 47
$28-FBH51-67 P2903005 FBH51-1 @50.9~67.1 28 49 57
FBH6787-1 66.9~87.1
$36-FBH67-125 P2903006 FBH6787-2 ?84.9~105.1 36 64 71
FBH6787-3 ©104.9~125.1
FBH6787-1 ©86.9~116.1
S46-FBH87-154 P2903007 FBH6787-2 B104.9~134.1 46 90 87
FBH6787-3 ©124.9~154.1
@ FINE BORING INSERT HODER Unit: mm
Model No. | EDPNo. | BORERANGE(@D) | A° |  INSERT INSERT SCREW | TORX WRENCH
FBH20-1 P2904001 20~24 0
FBH24-1 P2904002 23.9~31.1 0 TPGH08020D FTNA0204 T06
FBH31-1 P2904003 30.9~40.1 0
FBH40-1 P2904004 39.9~51.1 3
FBH51-1 P2904005 50.9~67.1 3
66.9~87.1
FBH6787-1 P2904006 3
86.9~116.1
TPGH110300 FTNA0307 T09
84.9~105.1
FBH6787-2 P2904007 3
104.9~134.1
104.9~125.1
FBH6787-3 P2904008 3
124.9~154.1

» The Insert Holder Clamp Screw is supplied with Boring Head.

» The Insert Screw is supplied with Insert Holder.

» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Boring Head & Insert Holder must be ordered separately.

» CCtype inserts (CC06, CC09) are available.

D256 prhone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD.

- ROUGH BORING
I/G HEAD & CARTRIDGE

ROUGH BORING BAR (SMALL BORE)

DOPPELBOHRHALTER

BARRE D'ALESAGE JUMEAUX
BARRE DI ALESATURA GEMELLO
BARRA DE MANDRINAR MELLIZO

Vi

© CARTRIDGE

‘ Bore Range #D

4 ROUGH BORING HEAD Unit: mm
S11-TBH25-34 P2905001 TBH25-34 025~34
TBH34-43N ?34~43
S18-TBH34-51 P2905002 18 31 60
TBH42-5TN @42~51
TBH50-64N @50~64
$22-TBH50-77 P2905003 2 4 80
TBH63-77N 063~77
TBH76-97N ©76~97
$36-TBH76-116 P2905004 36 65 110
TBH95-116N @95-116
TBH115-136N ?115~136
S46-TBH115-156 P2905005 46 90 105
TBH135-156N ?135~156
€ ROUGH BORING CARTRIDGE Unit : mm
Model No. | EDPNo. | BORERANGE (@D) INSERT INSERT SCREW | TORX WRENCH
TBH25-34 P2906001 25~34 CCMT060200 FTKA02565
TBH34-43N P2906002 34~43
CCMT060200 FTKA02565 T07
TBH42-51N P2906006 42~51
TBH50-64N P2906003 50~64
CCMT09T3 00 FTNA0408 15
TBH63-77N P2906007 63~77
TBH76-97N P2906004 76~97
CCMT120400 FTNAO513 20
TBH95-116N P2906008 95-116
TBH115-136N P2906005 115~136
CCMT120400 FTNAO0513 120
TBH135-156N P2906009 135~156

» The Cartridge Clamp Screw is supplied with Boring Head.

» The Insert Screw is supplied with Cartridge.

» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Boring Head & Insert Holder must be ordered separately.

4G YG-1CO.,, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D257

TOOLING
SYSTEM

SK
(DIN 69871)

CBT
BT DUAL
ONTACT)

BT
JIS B6339/
AS 403)

HSK
{DIN 69893/

SO 12164)

STRAIGHT

ISO, NT,
MTA/MTB
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
& PARTS



TOOLING

TOOLING

SYSTEM SYSTEM

- EXTENSION
76 il

FINE & ROUGH BORING BAR (SMALL BORE) FINE & ROUGH BORING BAR (SMALL BORE)

- REDUCTION
PRt 7G

SK SK
(DIN 69871) (DIN 69871)
CBT CBT
BT DUAL BT DUAL
CONTACT) ONTACT)
BT BT
(JIS B6339/ JIS B6339/
MAS 403) G AS 403)
HSK HSK
(DIN 69893/ G {DIN 69893/
1SO 12164) SO 12164)
| | N
W77 — /e
STRAIGHT s | AT ﬂ 5 - ) | 14 = STRAIGHT
zZ _ | Zl o ol 2 Sl
% J wn| © s T - - Ul o, —
ISO, NT, Y @ \ Y © ﬂ H < ISO, NT,
MTAMTB, I\/ITA/MTB
GOST GOST
TOOL ‘ TOOL
HOLDER L I HOLDER
SET i SET
BORING / BORING
SYSTEM SYSTEM
ACCESSORY ACCESSORY
& PARTS & PARTS
Unit: mm Unit: mm
T S S 377 T R
E-S11-30 P2907001 M5x0.8 R-S14-S11-30 P2908001 M5x0.8
E-S14-30 P2907002 14 24 30 M5x0.8 - R-S18-S11-30 P2908002 18 11 31 19 30 20 M5x0.8 -
E-S18-30 P2907003 18 31 30 M8x1.0 - R-S18-514-30 P2908003 18 14 31 24 30 20 M5x0.8 -
E-S22-45 P2907004 22 39 45 M8x1.0 - R-S22-S11-45 P2908004 22 11 39 19 45 25 M5x0.8 -
E-S28-60 P2907005 28 50 60 M10x1.0 - R-S22-S14-45 P2908005 22 14 39 24 45 25 M5x0.8 -
E-S$28-90 P2907006 28 50 20 M10x1.0 - R-S22-S18-45 P2908006 22 18 39 31 45 25 M8x1.0 -
E-S36-60 P2907007 36 64 60 M16x1.5 - R-528-511-60 P2908007 28 11 50 19 60 35 M5x0.8 -
E-S36-100 P2907008 36 64 100 M16x1.5 - R-S28-S14-60 P2908008 28 14 50 24 60 35 M5x0.8 -
E-S46-105 P2907009 46 90 105 M16x1.5 - R-S28-518-60 P2908009 28 18 50 31 60 35 M8x1.0 -
» Extends projection length by insertion between Basic Holder & Boring Head. R-528-522-60 P2908010 28 22 50 39 60 35 M8x1.0 .
R-S36-511-60 P2908011 36 11 64 19 60 35 M5x0.8 -
R-S36-514-60 P2908012 36 14 64 24 60 35 M5x0.8 -
R-S36-518-60 P2908013 36 18 64 31 60 35 M8x1.0 -
R-S36-522-60 P2908014 36 22 64 39 60 35 M8x1.0 -
R-S36-528-60 P2908015 36 28 64 50 60 35 M10x1.0 -
R-S46-511-105 P2908016 46 11 920 19 105 75 M5x0.8 -
R-S46-514-105 P2908017 46 14 90 24 105 75 M5x0.8 -
R-S46-S18-105 P2908018 46 18 90 31 105 75 M8x1.0 -
R-S46-522-105 P2908019 46 22 20 39 105 75 M8x1.0 -
R-S46-528-105 P2908020 46 28 920 50 105 75 M10x1.0 -
R-S46-536-105 P2908021 46 36 90 64 105 75 M16x1.5 -

» Reduces the connection sizes to use smaller Boring Head.

D258 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D259




TOOLING
SYSTEM

TOOLING

SYSTEM

TYPICAL CONFIGURATION

TYPICAL CONFIGURATION

o o
<« FINEBORING BAR (SMALL BORE) FINE BORING BAR (SMALL BORE) s
(DlN 69871) FEINBOHRHALTER FEINBOHRHALTER (DlN 69871)
CBT BARRE D'ALESAGE FIN BARRE D'ALESAGE FIN CBT
BARRE DI ALESATURA FINE BARRE DI ALESATURA FINE
C Bﬁ%\%% BARRA DE MANDRINADO FINO BARRA DE MANDRINADO FINO BOTNDTLAACH)
BT L | u BT
L L
Usee fi - fi. spa
AR G AR 4)
HSK ‘/ . / HSK
(DIN 69893/ = (DIN 69893/
IS0 12164) |\ S l\ IS0 12164)
- - #S No.
STRAIGHT STRAIGHT
FIG.2 L ‘ FIG3 . - FIG.2 FIG3
B | | e - | -
GOST L T ﬁ@ . %I L) . GOST
o | | | | .
HOLDER [ g s HOLDER
SET \\ \\ | ‘\ l\ SET
iz -_ T ] S Mo. -: H
BORING BORING
SYSTEM SYSTEM
DIN m% . DIN m¥4 7.
ACCESSORY 69871- i 69871- i ACCESSORY
&PARTS SK AD SK AD &PARTS

SK (DIN 69871/1SO 7388-1) SK (DIN 69871/1SO 7388-1)

Unit: mm Unit: mm

BASICHOLDER | gopng eap | HOLDER | (@D) "k BASICHOLDER | gopnG eap | HOLDER | (@D) "k
SK40-S11-72 S11-FBH20-24 FBH20-1 220 ~ 024 1 185 | 72 11045 M5x0.8 1 - SK50-S11-102 S11-FBH20-24 FBH20-1 @20 ~ 024 1 185 | 102 | 1345| M5x0.8 1 -
SK40-S14-42.5 S14-FBH24-31 FBH24-1 2239~ 031.1 14 | 235|425 | 775 M5x0.8 2 - SK50-S14-52.5 S14-FBH24-31 FBH24-1 2239~ 031.1 14 | 235 | 525 | 875 M5x0.8 2 -
SK40-514-82.5 S14-FBH24-31 FBH24-1 ©23.9~031.1 14 | 235|825 | 1175 M5x0.8 2 - SK50-S14-112.5 S14-FBH24-31 FBH24-1 ©23.9~031.1 14 | 235 1125/ 1475| M5x0.8 2 -
SK40-518-44 S18-FBH31-40 FBH31-1 230.9 ~ ©40.1 18 | 31 44 84 M8x1.0 2 - SK50-S18-54 S18-FBH31-40 FBH31-1 ©30.9 ~ ©40.1 18 | 31 54 94 M8x1.0 2 -
SK40-518-94 S18-FBH31-40 FBH31-1 230.9 ~ ©40.1 18 31 94 134 M8x1.0 2 - SK50-518-124 S18-FBH31-40 FBH31-1 230.9 ~ ©40.1 18 31 124 | 164 M8x1.0 2 -
SK40-522-43 S$22-FBH40-51 FBH40-1 ©39.9 ~®51.1 22 39 43 920 M8x1.0 2 - SK50-522-58 S22-FBH40-51 FBH40-1 ©39.9 ~®51.1 22 39 58 105 M8x1.0 2 -
20 SK40-522-88 S22-FBH40-51 FBH40-1 @39.9 ~051.1 22 0 39 | 83 | 135 M8x1.0 2 - SK50-522-178 S22-FBH40-51 FBH40-1 @39.9 ~051.1 22 | 39 | 178 | 225 | M8x1.0 2 -
SK40-528-48 S28-FBH51-67 FBH51-1 250.9 ~ ©67.1 28 | 50 | 48 | 105 | M10x1.0 2 - SK50-528-63 S28-FBH51-67 FBH51-1 ©50.9 ~ ©67.1 28 | 50 @ 63 | 120 | M10x1.0 2 -
FBH6787-1 266.9 ~ ©87.1 - SK50-528-105 S28-FBH51-67 FBH51-1 250.9 ~ ©67.1 28 | 50 | 105 | 162 | M10x1.0 2 -
SK40-536-64 S36-FBH67-125 FBH6787-2 = @84.9 ~ ®105.1 36 64 64 135 | M16x1.5 3 - SK50-528-183 S28-FBH51-67 FBH51-1 250.9 ~ ©67.1 28 50 | 183 | 240 M10x1.0 2 -
FBH6787-3 | @104.9 ~ ®125.1 - SK50-528-228 S28-FBH51-67 FBH51-1 @50.9 ~ ©67.1 28 | 50 | 228 285 | M10x1.0 2 -
FBH6787-1 = @86.9 ~ ®116.1 - FBH6787-1 266.9 ~ ©87.1 -
SK40-546-95 S46-FBH87-154 | FBH6787-2 | @1049~®134.1 | 46 = 90 | 95 | 177 | M16x1.5 3 - 50 SK50-5S36-94 S36-FBH67-125 | FBH6787-2 | ©84.9 ~ ®105.1 36 64 | 94 165 M16x1.5 2 -
FBH6787-3 = ©124.9 ~ ®154.1 - FBH6787-3 | ©104.9 ~ ®125.1 -
» This is for help selecting Fine Boring Head & Insert Holder. P NEXT PAGE FBHE7871 0E6.9 ~ 0871 -
» The Insert Holder Clamp Screw is supplied with Boring Head. SK50-536-169 S36-FBH67-125 | FBH6787-2 | ©84.9 ~ ®105.1 36 | 64 | 169 | 240 | M16x1.5 2 -
» The Insert Screw is supplied with Insert Holder. FBH6787-3 | @104.9 ~ ®125.1 -
» The Torx Wrench should be ordered. Please contact us to purchase this wrench. FBH6787-1 266.9 ~ ©87.1 -
: ?}:: Ea :;cdljr?lgr?;g:sriir:wgﬂlj: i:b?eIZ:ee ;L:?L?::enr:s:t\/:ﬁg?t}iiSBegr?rr\agtf-:Zéd and Insert Holder are mounted. SK50-536-229 536-FBHG7-125 | FBH6787-2 | 2849~ 01051 36 64 | 229 ) 300 | Miex1.5 2 .
FBH6787-3 | @104.9 ~ ®125.1 =
FBH6787-1 286.9 ~D116.1 -
SK50-546-93 S46-FBH87-154 FBH6787-2 | ©104.9 ~ ®134.1 46 920 93 180 | M16x1.5 3 -
FBH6787-3 | ©124.9 ~ ®154.1 -
FBH6787-1 = ©86.9 ~®116.1 =
SK50-546-243 S46-FBH87-154 | FBH6787-2 | @1049~®134.1 | 46 = 90 | 243 | 330 | M16x1.5 3 -
FBH6787-3 | ©124.9 ~ ®154.1 -

» This is for help selecting Fine Boring Head & Insert Holder.

» The Insert Holder Clamp Screw is supplied with Boring Head.

» The Insert Screw is supplied with Insert Holder.

» The Torx Wrench should be ordered. Please contact us to purchase this wrench.

» The Basic Holder, Boring Head & Insert Holder must be ordered separately.

» The L, L1 dimensions in the table are the reference values when Boring Head and Insert Holder are mounted.

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

D260 D261




TOOLING

TOOLING

SYSTEM SYSTEM

'I/G TYPICAL CONFIGURATION 'I/G TYPICAL CONFIGURATION
OF FINE BORING BAR OF FINE BORING BAR
< FINEBORING BAR (SMALL BORE) FINE BORING BAR (SMALL BORE) S
(DlN 69871) FEINBOHRHALTER FEINBOHRHALTER (DlN 69871)
BARRE D'ALESAGE FIN BARRE D'ALESAGE FIN
CBT CBT
CBTOUL  chna o maNDRNADOFNO g A Grou
BT __u __u BT
“,{%628% FIG.1 > ) FIG.1 - ) JESBE§33)9/
IS0 12164) |\ S ‘\ e ISO 12164)
STRAIGHT STRAIGHT
FIG.2 FIG3 FIG.2 FIG3
ISO, NT, L L ISO, NT.
oSt M 1 M ] M) e ] gosT
TOOL / " L ) | : ‘ / ‘ " . [ ‘ TOOL
— | || ML I . w— | | | | — |
: ¢S to. ‘ A S No. a

BORING
SYSTEM

JIS e % : JIS 7/ X
B6339- ‘ Ve B6339- & J
p— 2 o

BT (JIS B6339/MAS 403/ISO 7388-2)

BORING
SYSTEM

NSNNNN
NN
NANNN
> oo
SNNNNNN

| ACCESSORY
& PARTS

5

BT (JIS B6339/MAS 403/I1SO 7388-2)

Unit : mm Unit: mm
orscHoLDER | i | T | PORERANCE s | v orschowoEn | i | WGET | BORERANGE [y, | ve
BT30-511-72 S11-FBH20-24 FBH20-1 @20 ~ 024 11 185 72 1045 M5x08 @ 1 - BT50-511-102 S11-FBH20-24 FBH20-1 @20 ~ 024 11 | 185 102 | 1345 M5x08 1 -
BT30-S14-37.5 S14-FBH24-31 FBH24-1 @239~ ©31.1 | 14 | 235 375|725 | M5x08 | 2 - BT50-S14-52.5 S14-FBH24-31 FBH24-1 @239~ ®31.1 14 | 235 525 | 875 | M5x0.8 & 2 -
BT30-514-82.5 S14-FBH24-31 FBH24-1 @239~®31.1 | 14 235|825 |1175| M5x08 | 2 - BT50-514-112.5 | S14-FBH24-31 FBH24-1 @23.9~®31.1 14 | 235 1125|1475 M5x0.8 @ 2 -
BT30-S18-39 S18-FBH31-40 FBH31-1 @309 ~ ©40.1 18 31 39 79 M8x1.0 2 - BT50-S18-54 S18-FBH31-40 FBH31-1 ©30.9 ~ ©40.1 18 31 54 94 M8x1.0 2 -
30 BT30-S18-79 S18-FBH31-40 FBH31-1 @30.9 ~ ©40.1 18 31 79 119 M8x1.0 2 _ BT50-S18-124 S18-FBH31-40 FBH31-1 ©30.9 ~ ®40.1 18 31 124 | 164 M8x1.0 2 -
BT30-522-38 S$22-FBH40-51 FBH40-1 @399~051.1 | 22 39 38 | 85 | M8x1.0 2 2 BT50-522-58 522-FBH40-51 FBH40-1 @399~051.1 | 22 39 | 58 2 -
BT30-522-73 $22-FBH40-51 | FBH40-1 | @39.9~®511 | 22 39 73 | 120 M8x1.0 | 2 - BT50-522-118 | S22-FBH40-51 | FBH40-1 | @399~051.1 | 22 | 39 | 118 2 -
BT30-528-63 S28-FBH51-67 | FBHS51-1 | ©509~®67.1 | 28 | 50 | 63 | 120  MI10x1.0 @3 - e I N RN 2 -
BT40-511-72 S11-FBH2024 | FBH20-1 220 ~ 024 1 185| 72 1045 M5x08 @ 2 - BT50-528-63 528-FBH51-67 | FBHS1-1 | ©509-~0671 | 28 | 50 | 63 2 -
BT40-S14-42.5 S14-FBH24-31 FBH24-1 @239~ ®31.1 | 14 235 | 425 775 M5x08 | 2 - BT50-528-108 S28-FBH51-67 FBHS1-1 CAle | 28 | S0 | 0 2 .
BT50-528-183 528-FBH51-67 FBH51-1 @509~®67.1 | 28 50 | 183 2 -
BT40-S14-82.5 S14-FBH24-31 FBH24-1 @23.9~®031.1 | 14 235|825 |1175| M5x0.8 | 2 -
BT50-528-228 $28-FBH51-67 FBH51-1 @509~®67.1 | 28 | 50 | 228 2 -
BT40-S18-44 S18-FBH31-40 FBH31-1 @309~040.1 | 18 31 | 44 | 84 | M8x10 | 2 - FBHG787-1 2669~ 871
BT40-518-94 S18-FBH31-40 FBH31-1 @309~040.1 | 18 31 | 94 | 134 | M8x1.0 | 2 - 50 BT50.536.94 ss6rers12s TSR 36 | 64 | o4 ]
BT40-522-47 $22-FBH40-51 FBH40-1 @399~®51.1 | 22 39 | 47 | 94 | M8x1.0 | 2 - FBH6787-3 | 21049 ~ 1251
BT40-522-88 $22-FBH40-51 FBH40-1 @399~®51.1 | 22 39 | 88 | 135 | M8x1.0 | 2 - ST Zeeo ari
40 BT40-528-50 S28-FBH51-67 FBH51-1 @509~®67.1 | 28 50 | 50 | 107 | M10x1.0 @ 2 - BT50-536-169 S36-FBH67-125  FBHG787-2 | ©84.9 ~ 1054 36 | 64 | 169 )
BT40-528-79 S28-FBH51-67 FBH51-1 @509~®67.1 | 28 50 | 79 | 136 | M10x1.0 | 2 - FBH6787-3  @104.9 ~ 125.1
FBH6787-1 | @669 ~87.1 - FBH6787-1 | ©66.9 ~87.1
BT40-536-64 S36-FBH67-125 | FBH6787-2 284.9 ~ 105.1 36 | 64 | 64 135  Mil6x1.5 - BT50-536-229 S36-FBH67-125 | FBH6787-2 ©84.9 ~ 105.1 36 64 | 229 -
FBH6787-3 | ©104.9 ~125.1 - FBH6787-3 | ©104.9 ~125.1
FBH6787-1 | ©86.9~116.1 - FBH6787-1 ©86.9~116.1
BT40-546-90 S46-FBH87-154 | FBH6787-2 | ©1049~1341 | 46 | 90 | 90 | 177 | M16x1.5 - BT50-546-93 S46-FBH87-154 | FBH6787-2 = @104.9~1341 | 46 = 90 93 -
FBH6787-3 | ©124.9 ~154.1 - FBH6787-3  ©124.9~154.1
» This is for help selecting Fine Boring Head & Insert Holder. P> NEXT PAGE FBH6787-1 986.9~116.1
» The Insert Holder Clamp Screw is supplied with Boring Head. BT50-546-243 S46-FBH87-154 | FBH6787-2 | @104.9~1341 | 46 = 90 | 243 -
» The Insert Screw is supplied with Insert Holder. FBH6787-3 ©2124.9~154.1

» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Basic Holder, Boring Head & Insert Holder must be ordered separately.

» The L, L1 dimensions in the table are the reference values when Boring Head and Insert Holder are mounted.

D262

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

%G YG-1CO, LTD.

» This is for help selecting Fine Boring Head & Insert Holder.

» The Insert Holder Clamp Screw is supplied with Boring Head.

» The Insert Screw is supplied with Insert Holder.

» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Basic Holder, Boring Head & Insert Holder must be ordered separately.

» The L, L1 dimensions in the table are the reference values when Boring Head and Insert Holder are mounted.

%G YG-1CO, LTD.

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

D263




TOOLING

SYSTEM

TYPICAL CONFIGURATION

TYPICAL CONFIGURATION

HSK-A (DIN 69893/ISO 12164)

HSK-A (DIN 69893/ISO 12164)

Unit: mm Unit: mm
BASICHOLDER | 5opiNG HEAD | HOLDER | (@D) ke BASICHOLDER | gopnG HEAD | HOLDER | (D) ke

HSK40A-S11-72.5 S11-FBH20-24 FBH20-1 220 ~ 024 1 18,5 | 725 | 1045 | M5x0.8 2 - HSK100A-S11-102.5 S11-FBH20-24 FBH20-1 @20 ~ 024 11 18.5 1102.,5) 135 | M5x0.8 1 -
HSK40A-S14-39.5 S14-FBH24-31 FBH24-1 2239~ 031.1 14 | 235 | 395 | 745  M5x0.8 2 o HSK100A-S14-114.5 | S14-FBH24-31 FBH24-1 @239~ 031.1 14 | 235 1145 149.5| M5x0.8 1 =
HSK40A-S14-84.5 S14-FBH24-31 FBH24-1 @239~ 031.1 14 | 235 | 845 119.5 M5x0.8 2 - HSK100A-S18-125 S18-FBH31-40 FBH31-1 ©30.9 ~ ©40.1 18 31 125 | 165 | M8x1.0 1 -

40A HSK40A-S18-45 S18-FBH31-40 FBH31-1 @30.9 ~ 0©40.1 18 31 45 85 M8x1.0 2 = HSK100A-522-118 S22-FBH40-51 FBH40-1 ©39.9 ~051.1 22 39 118 | 165 | M8x1.0 2 -
HSK40A-S18-80 S18-FBH31-40 FBH31-1 230.9 ~ ©40.1 18 31 80 120 | M8x1.0 2 - HSK100A-522-178 S22-FBH40-51 FBH40-1 ©39.9~051.1 22 39 178 | 225 | M8x1.0 2 -
HSK40A-S22-53 S22-FBH40-51 FBH40-1 ©39.9 ~051.1 22 39 53 100 | M8x1.0 3 = HSK100A-528-108 S28-FBH51-67 FBH51-1 250.9 ~ ©67.1 28 50 108 | 165 | M10x1.0 2 =
HSK40A-522-73 S22-FBH40-51 FBH40-1 239.9 ~051.1 22 39 73 120 | M8x1.0 3 - HSK100A-528-183 S28-FBH51-67 FBH51-1 ©50.9 ~ 067.1 28 50 183 | 240 | M10x1.0 2 -
HSK50A-S11-72.5 S11-FBH20-24 FBH20-1 220 ~ 024 11 18.5 | 72.5 | 1045 | M5x0.8 2 o HSK100A-528-228 S28-FBH51-67 FBH51-1 250.9 ~ ©67.1 28 50 | 228 @ 285 M10x1.0 2 =
HSK50A-514-84.5 S14-FBH24-31 FBH24-1 2239~ 0©31.1 14 | 235 | 845 119.5 M5x0.8 2 - FBH6787-1 266.9 ~ ©87.1 -

50A HSK50A-S18-80 S18-FBH31-40 FBH31-1 @30.9 ~ 0©40.1 18 31 80 120 | M8x1.0 2 o HSK100A-536-94 S36-FBH67-125 | FBH6787-2 | ©84.9 ~ ®105.1 36 64 94 165 | M16x1.5 2 =
HSK50A-522-73 S22-FBH40-51 FBH40-1 @39.9 ~051.1 22 39 73 120 | M8x1.0 3 - FBH6787-3 | ©104.9 ~ ®125.1 -
HSK50A-528-83 S28-FBH51-67 FBH51-1 @50.9 ~ ©67.1 28 50 83 140 | M10x1.0 3 - 100A FBH6787-1 266.9 ~ 087.1 -
HSK63A-S11-77.5 S11-FBH20-24 FBH20-1 220 ~ 024 1 185|775 | 110 | M5x0.8 2 - HSK100A-536-169 S36-FBH67-125 | FBH6787-2 | ©84.9 ~ ®105.1 36 64 169 | 240 | M16x1.5 2 -
HSK63A-514-89.5 S14-FBH24-31 FBH24-1 2239~ 031.1 14 | 235 | 89.5 1245 M5x0.8 2 o FBH6787-3 | ©104.9 ~ ®125.1 =
HSK63A-518-100 S18-FBH31-40 FBH31-1 230.9 ~ 0©40.1 18 31 100 | 140 | M8x1.0 2 - FBH6787-1 266.9 ~ ©87.1 -
HSK63A-522-93 S22-FBH40-51 FBH40-1 239.9 ~051.1 22 39 93 140 | M8x1.0 2 o HSK100A-536-229 S36-FBH67-125 | FBH6787-2 | ©@84.9 ~ ®105.1 36 64 | 229 | 300 @ M16x1.5 2 =
HSK63A-528-83 S28-FBH51-67 FBH51-1 ©50.9 ~ 067.1 28 50 83 140 | M10x1.0 2 - FBH6787-3 | ©104.9 ~ ®125.1 -

63A FBH6787-1 266.9 ~ 087.1 o FBH6787-1 286.9 ~®116.1 =
HSK63A-536-79 S36-FBH67-125 FBH6787-2 284.9 ~©105.1 36 64 79 150 | M16x1.5 3 - HSK100A-546-123 S46-FBH87-154 | FBH6787-2 | @1049~®134.1 46 920 123 | 210 | M16x1.5 2 -
FBH6787-3 | @104.9 ~®125.1 = FBH6787-3 | ©124.9 ~ ®154.1 =

FBH6787-1 286.9 ~0116.1 - FBH6787-1 286.9 ~0116.1 -

HSK63A-S46-100 S46-FBH87-154 FBH6787-2 | @104.9 ~ ©134.1 46 90 100 | 187 | M16x1.5 3 o HSK100A-546-273 S46-FBH87-154 | FBH6787-2 | @104.9 ~®134.1 | 46 90 | 273 | 360 @ M16x1.5 2 =
FBH6787-3 | @124.9 ~ ®154.1 - FBH6787-3 | ©124.9 ~ ®154.1 -

» This is for help selecting Fine Boring Head & Insert Holder.

» The Insert Holder Clamp Screw is supplied with Boring Head.
» The Insert Screw is supplied with Insert Holder.
» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Basic Holder, Boring Head & Insert Holder must be ordered separately.

» NEXT PAGE

» This is for help selecting Fine Boring Head & Insert Holder.

» The Insert Holder Clamp Screw is supplied with Boring Head.
» The Insert Screw is supplied with Insert Holder.
» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Basic Holder, Boring Head & Insert Holder must be ordered separately.

TOOLING
SYSTEM

76 76

SK FINE BORING BAR (SMALL BORE) FINE BORING BAR (SMALL BORE) S
(DlN 69871) FEINBOHRHALTER FEINBOHRHALTER (DlN 69871)

caT| | BARRE DIALESATURAFINE e AL AT A BT
C B&%\%‘% BARRA DE MANDRINADO FINO BARRA DE MANDRINADO FINO BOTNDTL/J\ACLU

BT L u BT

L L
i o R
i - G — G

HSK HSK
(DIN 69893/ (DIN 69893/
1SO 12164) 1SO 12164)
STRAIGHT - s STRAIGHT

FIG.2 FIG.2 FIG.3 )

ISO, NT, ‘ SO, NT,
MTAMTB, MTAMTB,
GOST — - — ‘ T GOST

A . = — : /e
TOOL 3 " ’ TOOL
HOLDER c HOLDER
SET : s SET
BORING = = =) == BORING
SYSTEM SYSTEM
DIN| {7 DNJ| 7.
ACCESSORY 69893- 232 69893- 2:2 ACCESSORY
&PARTS HSK AD HSK AD & PARTS

» The L, L1 dimensions in the table are the reference values when Boring Head and Insert Holder are mounted. » The L, L1 dimensions in the table are the reference values when Boring Head and Insert Holder are mounted.

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

D264 D265




TOOLING

TOOLING

SYSTEM SYSTEM

'I/G TYPICAL CONFIGURATION 'I/G 'YPICAL CONFIGURATION
... ROUGH BORING BAR (SMALL BORE) ROUGH BORING BAR (SMALL BORE) -
( £ DOPPELBOHRHALTER DOPPELBOHRHALTER ( )
BARRE D'ALESAGE JUMEAUX BARRE D'ALESAGE JUMEAUX
- D%JBA[ BARRE DI ALESATURA GEMELLO BARRE DI ALESATURA GEMELLO CBBTTDU AL
CONTACT) BARRA DE MANDRINAR MELLIZO BARRA DE MANDRINAR MELLIZO ONTACT)
BT BT
(JIS B6339/ JIS B6339/
MAS 403) L AS 403)
L L2
HSK HSK
(DIN 69893/ (DIN 69893/
1SO 12164) ISO 12164)
[a) o
STRAIGHT b ° STRAIGHT
_ 2 2
3 & e
ISO, NT, = 2 g 1SO, NT,
MTAMTB, a @ MTAMTB,
GOST 1 GOST
TOOL TOOL
HOLDER HOLDER
SET SET
BORING BORING
SYSTEM SYSTEM
/ yavave ,.
JIS ¥ N
ACCESSORY BE3sS- : e ACCESSORY
&PARTS BT & PARTS
SK (DIN 69871) BT (JIS B6339/MAS 403)
Unit: mm Unit: mm
ROUGH BORE RANGE WEIGHT ROUGH BORE RANGE WEIGHT
TAPER No. BASIC HOLDER BORING HEAD CARTRIDGE ) mn- (Kg) TAPER No. BASIC HOLDER BORING HEAD CARTRIDGE (@D) Mn_ (Kg)
SK40-S11-72 S11-TBH25-34 TBH25-34 @25 ~ 034 112 M5x0.8 BT30-S11-72 S11-TBH25-34 TBH25-34 @25 ~ 034 122 M5x0.8
TBH34-43N @34 ~ 043 = TBH34-43N @34 ~ 043 =
SK40-518-44 S18-TBH34-51 18 104 = 60 M8x1.0 ——— -S18- - -
TBH42-51N @42 ~ 51 B} BT30-S18-39 S18-TBH34-51 TBH42-51N 242 ~ 051 18 29 60 M8x1.0 i
TBH34-43N @34 ~ 043 - TBH34-43N @34 ~ 043 -
SK40-518-94 S18-TBH34-51 18 154 | 60 M8x1.0 —— BT30-S18-79 S18-TBH34-51 18 | 139 60 M8x1.0
TBH42-51N @42 ~ 051 - 30 TBH42-51N @42 ~ 051 -
TBH50-64N @50 ~ 064 -
- TBH50-64N 250 ~ 064
SK40-522-43 S22-TBH50-77 22 123 | 80 M8x1.0
- ~ _ BT30-522-38 S$22-TBH50-77 22 118 | 80 M8x1.0 -
40 TBH63-77N 263 ~ ©77 TBH63-77N 063 ~ 077
TBH50-64N @50 ~ 064 =
SK40-522-88 $22-TBH50-77 22 168 | 80  M8x1.0 ——— TBH50-64N 250 ~ ©64
_ ~ - BT30-522-73 S22-TBH50-77 22 | 153 80 M8x1.0 =
e TN_|_ge3 o7 TN | 063-077
SK40-536-64 S36-TBH76-116 7697 76~ 097 36 174 | 110 | M16x1.5 S BT40-S11-72 S11-TBH25-34 TBH25-34 @25 ~ 034 1 122 | 50 M5x0.8 -
TBH95-116N @95~ D116 -
TBH34-43N @34 ~ 043
SK40-S46-90 S46-TBH115-156 TBH115-136N 2115~ 0136 46 195 | 105 | M16x1.5 - BT40-518-44 S18-TBH34-51 TBH4251N 242 ~ 051 18 | 104 | 60 M8x1.0 -
- - - - X . - ~
TBH135-156N @135~ 0156 -
SK50-S11-102 S11-TBH25-34 TBH25-34 225 ~ 034 11 152 | 50 M5x0.8 = BT40-5S18-94 S18-TBH34-51 TBH34-43N 934~ 043 18 | 154 | 60 M8x1.0 -
SK50-518-54 S18-TBH34-51 TBH34-43N 034~ 043 18 114 60  Msx10 e M :
-2 107 - - X1 TBH50-64N @50 ~ 064
TBH42-51N @42 ~ 051 - BT40-522-47 $22-TBH50-77 22 127 80 | M8x1.0 -
SK50-518-124 $18-TBH34-51 TBH34-43N 034~ 043 18 | 184 60 | M8x1.0 _ 40 TonTs 778 e
-S18- - - x1.0
- ~ - TBH50-64N @50 ~ 064
VA2 S ol BT40-522-88 $22-TBH50-77 22 168 80 | M8x1.0 -
TBH50-64N @50 ~ 064 - TBH63-77N 263 ~ 077
SK50-522-58 S22-TBH50-77 22 138 | 80 M8x1.0 ——
- ~ - TBH76-97N @76 ~ 097 -
>0 UEIE 771 L Lny BT40-536-64 S36-TBH76-116 36 | 174 1 110 | M16x1.5
TBH50-64N @50 ~ ©64 - TBH95-116N @95~ D116 -
SK50-522-178 S22-TBH50-77 22 258 | 80 M8x1.0 ——
TBH63-77N 263 ~ 077 - TBH115-136N 2115~136
BT40-S36-64 S36-TBH115-156 36 | 169 | 110 | M16x1.5 =
TBH76-97N @76 ~ ©®97 - TBH135-156N ?135~156
SK50-536-94 S36-TBH76-116 TBHO5-116N 295 ~®116 36 204 | 110 | M16x1.5 ———
. 2 - o . » This is for help selecting Rough Boring Head & Cartridge. P NEXT PAGE
TBH115-136N 115~ 0136 - i i i i i
SK50-546-93 S46-TBH115-156 46 | 198 | 105  M16x1.5 » The Cartridge Cla.mp Scrgw is §upplled. with Boring Head.
TBH135-156N 2135~ 0156 - » The Insert Screw is supplied with Cartridge.
o ) i i » The Torx Wrench should be ordered. Please contact us to purchase this wrench.
> Thisis for.help selecting Rough Boring Head & Cartridge. » The Basic Holder, Rough Boring Head & Cartridge must be ordered separately.
> The Cartridge Clamp Screw is supplied with Boring Head. » The L1, L2 dimensions in the table are the reference values when Boring Head and Cartridge are mounted.
» The Insert Screw is supplied with Cartridge.
» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Basic Holder, Rough Boring Head & Cartridge must be ordered separately.
» The L1, L2 dimensions in the table are the reference values when Boring Head and Cartridge are mounted.
D266 Phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D267




TOOLING

SYSTEM

SK
(DIN 69871)

CBT
BT DUAL

CONTACT)

BT
(JIS B6339/
MAS 403)

HSK
(DIN 69893/

1ISO 12164)

STRAIGHT

ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
&PARTS

7o

ROUGH BORING BAR (SMALL BORE)

DOPPELBOHRHALTER

BARRE D'ALESAGE JUMEAUX
BARRE DI ALESATURA GEMELLO
BARRA DE MANDRINAR MELLIZO

OF ROUGH BORING BAR

TYPICAL CONFIGURATION

L1

L2

e 4
i . s
I ()
e
5 R
S T~ o
RE
== |
S No
BT (JIS B6339/MAS 403)
Unit: mm
ROUGH BORE RANGE WEIGHT
TAPER No. BASIC HOLDER BORING HEAD CARTRIDGE (@D) (Kg)
BT50-S11-102 S11-TBH25-34 TBH25-34 225~ 034 11 152 50 M5x0.8 -
TBH34-43N @34 ~ 043
BT50-S18-54 S18-TBH34-51 18 114 | 60 M8x1.0 =
TBH42-51N @42 ~ 051
TBH34-43N @34 ~ 043
BT50-S18-124 S18-TBH34-51 18 184 | 60 M8x1.0 -
TBH42-51N @42 ~ ®O51
TBH50-64N @50 ~ 064
BT50-522-58 S22-TBH50-77 22 138 80 M8x1.0 =
TBH63-77N 263 ~ 077
TBH50-64N @50 ~ 064
BT50-S22-118 $22-TBH50-77 22 198 80 M8x1.0 -
TBH63-77N 263 ~ 077
50 TBH50-64N @50 ~ 064
BT50-S22-178 S$22-TBH50-77 22 258 80 M8x1.0 =
TBH63-77N 263 ~ 077
TBH76-97N @76 ~ ©97
BT50-536-94 S36-TBH76-116 36 204 | 110 M16x1.5 -
TBH95-116N 295~ D116
TBH76-97N @76 ~ 097
BT50-S36-169 S36-TBH76-116 36 179 | 110 M16x1.5 =
TBH95-116N 295~ 0116
TBH76-97N @76 ~ ©97
BT50-536-229 S36-TBH76-116 36 339 | 110 M16x1.5 -
TBH95-116N 295~ 0116
TBH115-136N 2115 ~D136
BT50-S46-93 S46-TBH115-156 46 198 | 105 M16x1.5 =
TBH135-156N @135~ D156

» This is for help selecting Rough Boring Head & Cartridge.
» The Cartridge Clamp Screw is supplied with Boring Head.
» The Insert Screw is supplied with Cartridge.

» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Basic Holder, Rough Boring Head & Cartridge must be ordered separately.
» The L1, L2 dimensions in the table are the reference values when Boring Head and Cartridge are mounted.

D268

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

%G YG-1CO, LTD.

- TYPICAL CONFIGURATION
2/ £ <2 OF ROUGH BORING BAR

ROUGH BORING BAR (SMALL BORE)

DOPPELBOHRHALTER

BARRE D'ALESAGE JUMEAUX
BARRE DI ALESATURA GEMELLO
BARRA DE MANDRINAR MELLIZO

L1

~

L2

[T

DIN
69893-
HSK

> NN
coo
O s

Bore Range #D

HSK (DIN 69893/I1SO 12164)

ROUGH BORE RANGE WEIGHT
TAPER No. BASIC HOLDER BORING HEAD CARTRIDGE (@D) ﬂn- (Kg)

Unit: mm

HSK40A-S11-72.5 S11-TBH25-34 TBH25-34 @25 ~ 034 1225 M5x0.8
TBH34-43N @34 ~ 043 =

HSK40A-S18-45 S18-TBH34-51 18 105 60 M8x1.0
TBH42-51N @42 ~ 051 -
TBH34-43N @34 ~ 043 =

HSK40A-518-80 S18-TBH34-51 18 140 60 M8x1.0
40A TBH42-51N @42 ~ 051 -
TBH50-64N @50 ~ 064 =

HSK40A-522-53 $22-TBH50-77 22 133 80 M8x1.0
TBH63-77N @63 ~ ©77 -
TBH50-64N @50 ~ 064 =

HSK40A-522-73 $22-TBH50-77 22 153 80 M8x1.0
TBH63-77N @63 ~ ©77 -
HSK50A-S11-72.5 S11-TBH25-34 FBH20-1 @20 ~ 024 11 1225 50 M5x0.8 =
TBH34-43N @34 ~ 043 -

HSK50A-518-80 S18-TBH34-51 18 140 60 M8x1.0
TBH42-51N @42 ~ 051 =
50A TBH50-64N @50 ~ 064 -

HSK50A-522-73 $22-TBH50-77 22 153 80 M8x1.0
TBH63-77N @63 ~ ©77 =
TBH76-97N @76 ~ ©97 -

HSK50A-536-79 S36-TBH76-116 36 189 | 110 | M16x1.5
TBH95-116N @95~ 0116 =
HSK63A-511-77.5 S11-TBH25-34 TBH25-34 @25~ 034 11 | 1275 50 M5x0.8 -
TBH34-43N @34 ~ 043 =

HSK63A-518-100 S18-TBH34-51 18 160 60 M8x1.0
TBH42-51N @42 ~ 051 -
63A TBH50-64N @50 ~ ©64 =

HSK63A-522-93 $22-TBH50-77 22 173 80 M8x1.0
TBH63-77N @63 ~ ©77 -
TBH76-97N @76 ~ ©97 =

HSK63A-536-79 S36-TBH76-116 36 189 | 110 | M16x1.5
TBH95-116N @95~ D116 -

» NEXT PAGE

» This is for help selecting Rough Boring Head & Cartridge.

» The Cartridge Clamp Screw is supplied with Boring Head.

» The Insert Screw is supplied with Cartridge.

» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Basic Holder, Rough Boring Head & Cartridge must be ordered separately.

» The L1, L2 dimensions in the table are the reference values when Boring Head and Cartridge are mounted.

%G YG-1CO, LTD.

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

D269

TOOLING
SYSTEM

SK
(DIN 69871)

CBT

BT DUAL

ONTACT)

BT
JIS B6339/

AS 403)

HSK
{DIN 69893/

SO 12164)

STRAIGHT

ISO, NT,

MTA/V\/ITB
GOST

TOOL

HOLDER
SET

BORING
SYSTEM

ACCESSORY
& PARTS



TOOLING

SYSTEM

TYPICAL CONFIGURATION

TOOLING
SYSTEM

'I/G 'I/G ROUGH BORING
... ROUGH BORING BAR (SMALL BORE) ROUGH BORING BAR (SMALL BORE) -
( 71) DOPPELBOHRHALTER DOPPELBOHRHALTER ( )
CBT BARRE D'ALESAGE JUMEAUX BARRE D'ALESAGE JUMEAUX CBT
BT DUAL BARRE DI ALESATURA GEMELLO BARRE DI ALESATURA GEMELLO AT DUAL
CONTACT) BARRA DE MANDRINAR MELLIZO BARRA DE MANDRINAR MELLIZO ONTACT)
BT BT
(JIS B6339/ JIS B6339/
MAS 403) L1 AS 403)
HSK L L2 HSK
(DIN 69893/ {DlN 69893/
150 12164) O G SO 12164)
EE— A 5] —
- 2 o
STRAIGHT T e 2 STRAIGHT
Fros =
— —F R —  — - ——————— :
(& [ -4 @
ISO, NT, he T e = ISO, NT,
MTAMTB, Lt & MTA/MTB
cst =4 M ] .- e . GOST
| v\

TOOL TOOL
HOLDER HOLDER
SET SET
BORING BORING
SYSTEM SYSTEM

DIN
ACCESSORY 69893- ACCESSORY
& PARTS HSK & PARTS
HSK (DIN 69893/ISO 12164) STRAIGHT-ST
Unit: mm Unit: mm
e APER o BASIC HOLDER ROUGH cARTRIDGE | BORERANGE [ [ [ ¢ | WEIGHT TAPER No. MODEL No. | EDPNo. | CARTRIDGE BORE RANGE (D) -m WEIGHT (Kg)
BORING HEAD ) (Kg) ST32-TBH25-125 P2779559 TBH25-34 225 ~ 034 125
HSK100A-S11-102.5 | S11-FBH20-24 FBH20-1 220 ~ 024 11525 50 | M5x0.8 - T3 TEH30130 1779560 TBH34-43N 234 ~ 043 o | = )
TBH34-43N @34 ~ 043 = : -
HSK100A-S18-125 S18-TBH34-51 18 185 60 | M8x1.0 32 TBH42-51N 042 ~ 051 -
S — i ST32-TBH50-155 P2779561 TBH30-64N 050 ~ ®64 155 32
TBH50-64N @50 ~ 064 = i i
HSK100A-522-118 $22-TBH50-77 22 198 | 80 | M8x10 TBH63-77N 963 ~ 077 -
Teros 7 963~ 077 - 40 ST40-TBH76-185 P2779562 TBH76-97N 076~ ®97 185 40 -
TBH50-64N @50 ~ 064 - : :
HSK100A-522-178 $22-TBH50-77 22 258 | 80 | M8x10 TBH95-116N 095~ 0116 -
e go-om i 42 ST42-TBH76-185 P2779563 TBH76-97N 076~ 097 185 42
TBH76-97N @76 ~ ©97 = i " - _
HSK100A-536-94 $36-TBH76-116 36 | 204 | 110  MI16x15 TBHO5-116N 096 ~ 0116
100A TBH95-116N 295~ 0116 -
T P » This is for help selecting Straight Rough Boring Head & Cartridge.
HSK100A-536-169 $36-TBH76-116 36 | 279 | 110 | M16x15 » The Cartridge Clamp Screw is supplied with Boring Head.
TBH95-116N @295~ 0116 - » The Insert Screw is supplied with Cartridge.
TBH76-97N @76 ~ D97 - » The Torx Wrench should be ordered. Please contact us to purchase this wrench.
HSK100A-S36-229 S36-TBH76-116 36 | 339 | 110  M16x1.5 » The Straight Shank & Cartridge must be ordered separately.
TBHO5-116N 095 ~ 0116 i, » The Straight Shank & Rough Boring Head are combined.
A R ST R 55 TBH115-136N 2115~ 0136 s | | s | s s - » The dimensions L in the table are the reference values when cartridge are mounted.
TBH135-156N | @135~ D156 ’ -
TBH115-136N @115 ~ D136 -
HSK100A-546-273 S46-TBH115-156 46 378 105 | M16x1.5
TBH135-156N 2135~ 0156 -
» This is for help selecting Rough Boring Head & Cartridge.
» The Cartridge Clamp Screw is supplied with Boring Head.
» The Insert Screw is supplied with Cartridge.
» The Torx Wrench should be ordered. Please contact us to purchase this wrench.
» The Basic Holder, Rough Boring Head & Cartridge must be ordered separately.
» The L1, L2 dimensions in the table are the reference values when Boring Head and Cartridge are mounted.
D270 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D271




TECHNICAL INFORMATION
FINE & ROUGH BORING (BIG BORE)

Boring Range : 153mm~576mm (FINE BORING BAR)
156mm~576mm (ROUGH BORING BAR)

Cartridge
(for fine boring)

Cartridge
(for rough boring)

Plate (Rail)

Basic Holder

Counter Weight

FEATURE

« Easy to replace head

« Using insert conforming to I1SO standard

« Special Rough Boring Bars with a boring range up to
800mm could be manufactured

« Basic holder interchangeable between Fine Boring Bar
and Rough Boring Bar

D272 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions /G YG-1CO, LTD.

- BASIC
7S

FINE & ROUGH BORING BAR (BIG BORE)

4-M10x1.5

@52
2102

==
290

DIN |&
69871- /

SK (DIN 69871)

MODEL No.

Unit: mm

SK50-SAS102-90 20
SK50-SAS102-140 140
SK50-SAS102-190 190
P Basic holder interchangeable between Fine Boring Bar and Rough Boring Bar.
4-M10x1.5
DT~ ?Q-
MK V)
' SRS I
o / !
(2] /
S| =
y g[; -
L 12 19.05_| 92
13
B6339- ¥,
BT
BT (JIS B6339/MAS 403)
Unit: mm
MODEL No. L]
BT50-SAS102-90 920
BT50-SAS102-140 140
BT50-SAS102-190 190

P Basic holder interchangeable between Fine Boring Bar and Rough Boring Bar.

%G YG-1CO, LTD.

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D273

TOOLING
SYSTEM

K
(DIN 69871)

CBT
BT DUAL
ONTACT)

BT
JIS B6339/
AS 403)

HSK
{DIN 69893/
SO 12164)

STRAIGHT

ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
& PARTS




TOOLING
SYSTEM

SK
(DIN 69871)

CBT
BT DUAL
CONTACT)

BT
(JIS B6339/
MAS 403)

HSK
(DIN 69893/
IS0 12164)

STRAIGHT
ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
&PARTS

FINE BORING BAR (BIG BORE)

ROUGH BORING BAR (BIG BORE)

92

D (BORE RANGE)
T S s SRS
105 -

FBH153S 153 216

FBH216S 216 276 105
FBH276S 276 336 105
FBH336S 336 396 105
FBH396S 396 456 105
FBH456S 456 516 105
FBH516S 516 576 105

SPARE PART
FBH153S PLA153
FBH216S PLA216
FBH276S PLA276
FBH336S PLA336 FTP11 M10 X 30L FBB153
FBH396S PLA396
FBH456S PLA456
FBH516S PLA516

BORING HEAD PLATE CARTRIDGE | CLAMP BOLT ([COUNTERWEIGHT| WRENCH (CLAMP SCREW| T-WRENCH

L-W5

D274 Pphone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1 @yg1.solutions

PLA156 152
PLA216 212
PLA276 272
PLA336 332
PLA396 392
PLA456 452
PLA516 512
|S5assavsavia

for Rough Cutting

%G YG-1CO, LTD. %G YG-1CO, LTD.

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

TOOLING
SYSTEM

K
(DIN 69871)

CBT
BT DUAL
ONTACT)

BT
JIS B6339/
AS 403)

HSK
{DIN 69893/
SO 12164)

STRAIGHT

ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
& PARTS




TOOLING

SYSTEM

SK
(DIN 69871)

CBT
BT DUAL

CONTACT)

BT
(JIS B6339/
MAS 403)

HSK
(DIN 69893/

1ISO 12164)

STRAIGHT

ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
&PARTS

7o

FINE BORING BAR (BIG BORE)

FEINBOHRHALTER

ALESAGE PROFOND

BARRE DI ALESATURA FINE
BARRA DE MANDRINADO FINO

FINE BORING

BAR

=
F |9
L
o
o
S—

JS Wmd .
b o 7.7
o e
BT (JIS B6339/MAS 403)

Unit: mm

D (BORE RANGE)
MODEL No. BODY (BASIC HOLDER) BORING HEAD WEIGHT (Kg)

BT50-FBH153-195 BT50-SAS102-90

BT50-FBH153-265 BT50-SAS102-160 -
153 216 FBH153S

BT50-FBH153-315 BT50-SAS102-210 -

BT50-FBH153-365 BT50-SAS102-260 =

BT50-FBH216-195 BT50-SAS102-90 -

BT50-FBH216-265 BT50-SAS102-160 -
216 276 FBH216S

BT50-FBH216-315 BT50-SAS102-210 -

BT50-FBH216-365 BT50-SAS102-260 =

BT50-FBH276-195 BT50-SAS102-90 -

BT50-FBH276-265 BT50-SAS102-160 =
276 336 FBH276S

BT50-FBH276-315 BT50-SAS102-210 -

BT50-FBH276-365 BT50-SAS102-260 =

BT50-FBH336-195 BT50-SAS102-90 -

BT50-FBH336-265 BT50-SAS102-160 =
336 396 FBH336S

BT50-FBH336-315 BT50-SAS102-210 -

BT50-FBH336-365 BT50-SAS102-260 =

BT50-FBH396-195 BT50-SAS102-90 -

BT50-FBH396-265 BT50-SAS102-160 =
396 456 FBH396S

BT50-FBH396-315 BT50-SAS102-210 -

BT50-FBH396-365 BT50-SAS102-260 =

BT50-FBH456-195 BT50-SAS102-90 -

BT50-FBH456-265 BT50-SAS102-160 =
456 516 FBH456S

BT50-FBH456-315 BT50-SAS102-210 -

BT50-FBH456-365 BT50-SAS102-260 =

BT50-FBH516-195 BT50-SAS102-90 -

BT50-FBH516-265 BT50-SAS102-160 =
516 576 FBH516S

BT50-FBH516-315 BT50-SAS102-210 -

BT50-FBH516-365 BT50-SAS102-260 -

» Basic holder interchangeable between Fine Boring Bar and Rough Boring Bar.

D276 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

%G YG-1CO, LTD.

ROUGH BORING

'I/G BAR

ROUGH BORING BAR (BIG BORE)

DOPPELSCHNEIDER - BOHRSTANGE
BARRE D'ALESAGE A 2 ARETES DE COUPE
PORTATESTINE BILAMA

BARRAS DE MANDRINAR DE DOS PLACAS

90 INSERT
i i % O N a
s _
PLATE " /
CARTRIDGE
L
DIN
69871-
SK
SK (DIN 69871/I1SO 7388-1) Unit

D (BORE RANGE)
MODEL No. BODY PLATE INSERT WEIGHT (Kg)

SK50-TBH156-180 156 216 180 SK50-SAS102-90 PLA156 CCMT120400

SK50-TBH156-230 156-216 230 SK50-SAS102-140 PLA156 CCMT120400 =
SK50-TBH156-280 156-216 280 SK50-SAS102-190 PLA156 CCMT120400 -
SK50-TBH216-180 216-276 180 SK50-SAS102-90 PLA216 CCMT120400 =
SK50-TBH216-230 216-276 230 SK50-SAS102-140 PLA216 CCMT120400 -
SK50-TBH216-280 216-276 280 SK50-SAS102-190 PLA216 CCMT120400 =
SK50-TBH276-180 276-336 180 SK50-SAS102-90 PLA276 CCMT120400 -
SK50-TBH276-230 276-336 230 SK50-SAS102-140 PLA276 CCMT120400 =
SK50-TBH276-280 276-336 280 SK50-SAS102-190 PLA276 CCMT120400 -
SK50-TBH336-180 336-396 180 SK50-SAS102-90 PLA336 CCMT120400 =
SK50-TBH336-230 336-396 230 SK50-SAS102-140 PLA336 CCMT120400 -
SK50-TBH336-280 336-396 280 SK50-SAS102-190 PLA336 CCMT120400 =
SK50-TBH396-180 396 - 456 180 SK50-SAS102-90 PLA396 CCMT120400 -
SK50-TBH396-230 396 - 456 230 SK50-SAS102-140 PLA396 CCMT120400 =
SK50-TBH396-280 396 - 456 280 SK50-SAS102-190 PLA396 CCMT120400 -
SK50-TBH456-180 456-516 180 SK50-SAS102-90 PLA456 CCMT120400 =
SK50-TBH456-230 456-516 230 SK50-SAS102-140 PLA456 CCMT120400 -
SK50-TBH456-280 456-516 280 SK50-SAS102-190 PLA456 CCMT120400 =
SK50-TBH516-180 516-576 180 SK50-SAS102-90 PLA516 CCMT120400 -
SK50-TBH516-230 516-576 230 SK50-SAS102-140 PLA516 CCMT120400 =
SK50-TBH516-280 516-576 280 SK50-SAS102-190 PLA516 CCMT120400 -

» Upon request, special Rough Boring Bars with a boring range up to 800mm could be manufactured and supplied.

P Basic holder interchangeable between Fine Boring Bar and Rough Boring Bar.

%G YG-1CO, LTD.

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

D277

TOOLING
SYSTEM

SK
(DIN 69871)

CBT
BT DUAL
ONTACT)

BT
JIS B6339/
AS 403)

HSK
(DIN 69893/

1SO 12164)

STRAIGHT

ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
& PARTS



TOOLING

TOOLING

SYSTEM SYSTEM

'I/G ROUGH BORING 'I/G MICRO BORING
... ROUGH BORING BAR (BIG BORE) MICRO BORING BAR Ko
( ) DOPPELSCHNEIDER - BOHRSTANGE MIKRO - BOHRSTANGE ( )
BARRE D'ALESAGE A 2 ARETES DE COUPE BARRE D'ALESAGE MICRO
o Dﬁ?\[ PORTA TESTINE BILAMA PORTA TESTINE MICROREGISTRABILI %BTTDU n
CONTACT) BARRAS DE MANDRINAR DE DOS PLACAS BARRAS DE MANDRINAR MICRO ONTACT)
BT BT
(JIS B6339/ FIG.1 L JIS B6339/
MAS 403) 90 INSERT : e " AS 403)
HSK ‘ HSK
(DIN 69893/ [ C1l A 53.08° (DIN 69893/
1ISO 12164) g | . ISO 12164)
— - - tea— -2
- . | ’l = D
STRAIGHT ) H|_ E2 STRAIGHT
a
ISO, NT, T ISO, NT,
MTAMTB, & MTAMTB,
GOST L\ -L/*E - FIG.2 GOST
oI35k oute /N 17 | o0k
o CARTRIDGE aer
L |
BORING | BORING
SYSTEM SYSTEM
/ yavave ,.
B‘ég% 7/ 2
ACCESSORY : i - ACCESSORY
&PARTS BT A &PARTS
BT (JIS B6339/MAS 403) BT (JIS B6339/MAS 403)
Unit : mm Unit: mm
D (BORE RANGE) D (BORE RANGE)
e N s R [aieflesfulolle e ] e il
BT50-TBH156-180 156-216 180 BT50-SAS102-90 PLA156 CCMT120400 BT30-BCA13.5-105 13.5-16 105 13.0 M1B2E/F | BRAZED TYPE
BT50-TBH156-230 156-216 230 BT50-SAS102-140 PLA156 CCMT120400 - BT30-BCA14.5-105 145-17 105 68 | 13 |14.0| 44 | 15 | 5 | 0.2 | M1B2E/F | BRAZED TYPE 1 -
BT50-TBH156-280 156-216 280 BT50-SAS102-190 PLA156 CCMT120400 - BT30-BCA16-105 16-22.5 1051 73 | 14 | 15 - 18 - 102 M1A2E/F | BRAZEDTYPE 3 -
BT50-TBH216-180 216-276 180 BT50-SAS102-90 PLA216 CCMT120400 - BT30-BCA19-120 19-23 120 85 | 16 18 | 44 23 | 3 | 0.2 M2B2CC CCGT0401 1 0.70
BT50-TBH216-230 216-276 230 BT50-SAS102-140 PLA216 CCMT120400 - BT30-BCA23-135 23-29 135105/ 19 ' 22 | - 24 - |02 M3B2TC TBGT0601 3 0.70
BT50-TBH216-280 216-276 280 BT50-SAS102-190 PLA216 CCMT120400 - 30 BT30-BCA29-150 29-41 150 115 25 | 28 | 44 | 30 | 8 | 0.2 | M3A2TC TBGT0601 1 0.90
BT50-TBH276-180 276 -336 180 BT50-SAS102-90 PLA276 CCMT120400 - BT30-BCA29-195 29-41 195115 25 | 28 | 44 | 30 | 53 | 0.2 | M3A2TC TBGT0601 1 -
BT50-TBH276-230 276 -336 230 BT50-SAS102-140 PLA276 CCMT120400 - BT30-BCA38-150 38-49 150 115 33 | 35 | 55 | 41 8 | 0.2 M5B2TC TCGT1102 1 1.40
BT50-TBH276-280 276 -336 280 BT50-SAS102-190 PLA276 CCMT120400 - BT30-BCA38-210 38-49 210 175 33 | 37 55 | 41 8 |02 M5B2TC TCGT1102 1 -
BT50-TBH336-180 336-396 180 BT50-SAS102-90 PLA336 CCMT120400 - BT30-BCA46-150 46 - 66 150 115 38 | 41 | 55 | 45 | 8 | 0.2 | M5A2TC TCGT1102 1 2.10
BT50-TBH336-230 336-396 230 BT50-SAS102-140 PLA336 CCMT120400 - BT30-BCA46-210 46 - 66 210 175 38 | 45 | 55 | 45 | 8 | 0.2 | M5A2TC TCGT1102 1 -
BT50-TBH336-280 336-396 280 BT50-SAS102-190 PLA336 CCMT120400 - BT30-BCA62-165 62-87 165 135 51 - - - - 102 M7A2TC TCGT16T3 2 -
BT50-TBH396-180 396 - 456 180 BT50-SAS102-90 PLA396 CCMT120400 - BT40-BCA13.5-105 13.5-16 105 68 | 12 13.0| 44 15| 5 | 0.2 | MIB2E/F = BRAZEDTYPE | 1 -
BT50-TBH396-230 396 - 456 230 BT50-SAS102-140 PLA396 CCMT120400 - BT40-BCA14.5-105 145-17 105 68 | 13 |14.0| 44 | 15 | 5 | 0.2 | M1B2E/F | BRAZED TYPE 1 -
BT50-TBH396-280 396 - 456 280 BT50-SAS102-190 PLA396 CCMT120400 - BT40-BCA16-105 16-22.5 1051 73 14 | 15 - 18 - 102 M1A2E/F | BRAZEDTYPE 3 -
BT50-TBH456-180 456-516 180 BT50-SAS102-90 PLA456 CCMT120400 - BT40-BCA19-120 19-23 120 85 | 16 | 18 | 44 | 23 | 3 | 0.2 | M2B2CC CCGT0401 1 1.50
BT50-TBH456-230 456-516 230 BT50-SAS102-140 PLA456 CCMT120400 - BT40-BCA23-135 23-29 13510519 22 | - 24 - |02 M3B2TC TBGT0601 3 1.50
BT50-TBH456-280 456-516 280 BT50-SAS102-190 PLA456 CCMT120400 = BT40-BCA29-150 29-41 150 115 25 28 44 30 8 | 0.2 MB3A2TC TBGT0601 1 1.50
BT50-TBH516-180 516-576 180 BT50-SAS102-90 PLA516 CCMT120400 - BT40-BCA29-195 29-41 195/ 115 25 | 28 | 44 | 30 | 53 | 0.2 | M3A2TC TBGT0601 1 2.00
BT50-TBH516-230 516-576 230 BT50-SAS102-140 PLA516 CCMT120400 - 40 BT40-BCA38-150 38-49 150 1115 33 | 35 | 55 | 41 8 | 0.2 M5B2TC TCGT1102 1 1.80
BT50-TBH516-280 516-576 280 BT50-SAS102-190 PLA516 CCMT120400 - BT40-BCA38-210 38-49 210 1 175| 33 | 37 | 55 | 41 8 | 0.2 M5B2TC TCGT1102 1 2.20
» Upon request, special Rough Boring Bars with a boring range up to 800mm could be manufactured and supplied. LU L 0566 150 115|738 P17 55 | 50| 8| 027 MSAZTC ULE LI [ 210
P Basic holder interchangeable between Fine Boring Bar and Rough Boring Bar. BT40-BCA46-210 46 - 66 210175 38 | 45 55 45| 8 | 0.2 M5A2TC TCGT1102 1 2.30
BT40-BCA62-165 62-87 165 135 51 - - - - 102 M7A2TC TCGT16T3 2 2.90
BT40-BCA62-210 62 -87 210 180 | 51 - - - - 102 M7A2TC TCGT16T3 2 3.60
BT40-BCA83-150 83-108 150 /120 63 | - | - | - | - |02 M7A2TC TCGT16T3 2 -
BT40-BCA83-210 83-108 210 180 63 | - - | - | - |02 M7A2TC TCGT16T3 2 -
BT40-BCA98-150 98-142 150 | 120 | 83 - - 85 - 1 0.2 M10A2TC TCGT16T3 4 -
» NEXT PAGE
D278 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D279




TOOLING

TOOLING

SYSTEM SYSTEM

'I/G MICRO BORING 'I/G MICRO BORING
- MICROBORING BAR MICRO BORING BAR s
( ! ) MIKRO - BOHRSTANGE MIKRO - BOHRSTANGE ( 7 )
BARRE D'ALESAGE MICRO BARRE D'ALESAGE MICRO
- D%JBAL PORTA TESTINE MICROREGISTRABILI PORTA TESTINE MICROREGISTRABILI CBBTTDU AL
© NTACT) BARRAS DE MANDRINAR MICRO BARRAS DE MANDRINAR MICRO ONTACT)
JS 8633% L BJITS B6339/
S 403) FIG.1 L FIG.1 L2 AS 403)
M1 UNIT
HSK { HSK
(DIN 69893/ C1 . (DIN 69893/
1SO 12164) @ — 53.08 1SO 12164)
STRAIGHT 1 STRAIGHT
ISO, NT, SO, NT,
MTAMTB. FIG.2 L FIG.2 MTAIMTB,
GOST GOST
TOOL TOOL
HOLDER HOLDER
SET @ ! SET
T - - — ¢
BORING : =| BORING
SYSTEM ‘ SYSTEM
ACCESSORY ACCESSORY
&PARTS &PARTS
BT (JIS B6339/MAS 403) STRAIGHT-ST
Unit: mm Unit: mm
D (BORE RANGE) D (BORE RANGE)
TAPER MODEL No. c2|c3 UNIT INSERT bl TAPER MODEL No. 2 UNIT el
(Kg) No. (Kg)
BT50-BCA13.5-120 13 5-16 120 M1B2E/F ST32-BCA13.5-75 13 5-16 135 M1B2E/F 1 0.50
BT50-BCA13.5-195 13.5-16 195/ 67 12 13 | 44 15 85 | 02 MIB2E/F - 1 - ST32-BCA14.5-75 14.5-17 145 75 67 12 14 M1B2E/F 1 0.50
BT50-BCA14.5-120 145-17 120 67 | 13 | 14 44 | 15 10 | 0.2 | M1B2E/F - 1 - ST32-BCA16-90 16-22.5 160 20 82 14 15 M1A2E/F 1 0.50
BT50-BCA14.5-195 14.5-17 195/ 67 | 13 | 14 | 44 | 15 | 85 | 0.2 MIB2E/F = 1 = ST32-BCA19-90 19-23.0 160 90 82 16 18 M2B-2CC 1 0.50
BT50-BCA16-120 16-225 120/ 73 | 14 | 15 | 44 | 18 | 4 | 0.2 | MIA2E/F - L - 32 ST32-BCA23-120 23-29.0 190 | 120 | 110 19 | 22 M3B-2TC 1 1.00
BT50-BCA16-195 16-22.5 195/ 73 14 15 44 18 | 79 | 02 MIA2E/F 1 5 ST32-BCA29-120 29-41.0 190 | 120 | 110 | 25 28 M3A-2TC 1 1.00
BT50-BCA19-135 19-23 13586 | 16 | 18 | 44 | 23 | 6 | 02 M2B2CC CCGT0401 1 3.80 ST32-BCA38-120 38-49.0 190 | 120 | 115 33 35 M5B-2TC 2 150
BT50-BCA19-210 19-23 210 86 | 16 | 18 44 | 23 | 81 02 M2B2CC CCGT0401 1 = e I (L T T RCRIETE e i AT = 50
BT50-BCA23-150 23-29 150|105 19 ' 22 | 44 24 2 |02 M3B2TC TBGTO0601 1 3.90 ST32-BCA62-120 62-870 190 | 120 | 115 5 ) M7ATC 5 550
BT50-BCA23-225 23-29 225105 19 | 22 | 44 | 24 | 77 02 M3B2TC TBGTO0601 1 - ST42-BCA13.5.85 135. 1' p 165 o pe " = VT : 1' 0
BT50-BCA29-165 29-41 165|115 25 | 28 44 30 | 7 |02 M3A2TC TBGTO0601 1 450 : : :
ST42-BCA14.5-85 145-17 165 85 67 12 14 M1B2E/F 1 1.00
BT50-BCA29-225 29-41 225 165 25 | 28 44 | 30 | 67 0.2 M3A2TC TBGTO0601 1 - ST42.BCAT6.100 6. 90 20 | 100 o 1 s M ASE/E : 100
BT50-BCA38-165 38-49 165 115| 33 | 35 | 55 | 41 | 7 | 02| M5B2TC TCGT1102 1 - . . i :
BT50-BCA38-225 38-49 225 17233 | 37 | 55 41 | 10 | 02 | M5B2TC TCGT1102 1 5.00 ST42-BCA19-100 19-230 180 | 100 82 16 18 M2B2E/F ! 100
BT50-BCA46-165 46 - 66 165115 38 | 41 | 55 | 45 | 7 | 02 M5A2TC TCGT1102 1 5.20 4 Sl Az 2 22220 A 120 1LY 12 Zz LB C L 15
50 | BT50-BCA46-225 46-66 225 18238 | - | - | 45 - |02 MSA2TC | TCGT1102 | 3 ) S$T42-BCA29-120 29-41.0 200 | 120 | 110 | 25 | 28 M3A-2TC ! 1.50
BT50-BCA46-255 46 - 66 255 206| 38 | - | 55| 45 6 |02 MSA2TC | TCGT1102 1 570 ST42-BCA38-130 38-49.0 210 130 | 125 | 33 35 M5B-2TC 1 1.50
BT50-BCA62-180 62-87 1801137 51 | - | - - | - 02| M7A2TC = TCGT16T3 2 | 700 S5T42-BCA46-135 46-66.0 215 | 135 130 | 38 44 M5A-2TC L 1.50
BT50-BCA62-240 62 - 87 240 184 | 51 | 57 | 70 | 60 | 13 0.2 | M7A2TC TCGT16T3 1 7.60 ST42-BCA62-135 62-87.0 215 | 135 | 130 51 - M7A-2TC 2 2.50
BT50-BCA62-330 62 -87 330280 51 | 60 | 70 | 60 7 | 02 M7A2TC TCGT16T3 1 9.50 ST42-BCA83-150 83-108 230 150 145 63 - M7A-2TC 2 3.00
BT50-BCA83-165 83-108 16512263 | - | - | - | - |02 M7A2TC TCGT16T3 2 -
BT50-BCA83-240 83-108 240 190 63 62 | 90 | 95 | 7 |02 M7A2TC TCGT16T3 1 -
BT50-BCA83-345 83-108 345 205 63 | 62 90 | 95 | 7 02| M7A2TC TCGT16T3 1 -
BT50-BCA98-165 98- 142 165122 83 - | - | - - 02| MIOA2TC | TCGT16T3 2 -
BT50-BCA98-240 98- 142 240 (19783 | - | - | - | - 02| MIOA2TC | TCGT16T3 2 -
BT50-BCA98-345 98- 142 34530283 92 - | 8 - 02| MIOA2TC = TCGT16T3 3 -
BT50-BCA132-210 132-176 210 - 108 - | - | 65 - 02| MIOA2TC = TCGT16T3 4 -
BT50-BCA132-315 132-176 315, - (108 - | - | 65 - | 02| MIOA2TC  TCGT16T3 4 -
BT50-BCA166-225 166-210 225 - (142 - | - |70 - | 02| MI0A2TC  TCGT16T3 4 -
BT50-BCA166-315 166 -210 315, - (142 - | - | 70 - | 02| MI0A2TC  TCGT16T3 4 .
BT50-BCA200-210 200 - 244 210 - (176 - | - | 75 | - 02| MI0A2TC | TCGT16T3 4 -

D280 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D281




TOOLING
SYSTEM

TOOLING

SYSTEM

MICRO BORING MICRO BORING

I/G I/G
. BIGSIZE MICRO CUT BORING BAR STRENGTH OF BORING BAR AND "o
CBT CBT
BT DUAL BT DUAL
CONTACT) ONTACT)
BT BT
(JIS B6339/ JIS B6339/
MAS 403) AS 403)
14.5K
- BT (JIS B6339/MAS 403) 445 g her
(DIN 69893/ (DIN 69893/
1SO 12164) 1SO 12164)
Il BORING RING HOLDER Unit: mm
GO e . o .Y L " TR
BT50-BRA140-105 140 197 105
ISO, NT, SO, NT.
MTAMTE. BT50-BRA140-165 140 197 165 gj MTAMTS,
GOsT BT50-BRA191-105 191 248 105 ‘ GOST
TOOL BT50-BRA191-165 191 248 165 TOOL
HOLDER ] HOLDER
30T BT50-BRA242-105 242 299 105 SET
BT50-BRA242-165 242 299 165 L1 4l D
BORING i i BORING
Eodie BT50-BRA293-105 293 350 105 | AL
BT50-BRA293-165 293 350 165 \\
RING ADAPTER ‘
BT50-BRA344-165 344 401 165 RING HEAD
BT50-BRA395-105 395 452 105 |
BT50-BRA395-165 395 452 165 |
vl
| Z
L
| w
'O
[D
L
K5
L ‘
H RING ADAPTOR Unit:mm : ‘ BORING BAR BRAZED TYPE B EF SCREW ON TYPE
m.ma-——— L ISERTSFES
BT50-RAA32- 60 102 ! BCA M2B2 M2B2 CCGT0401
BT50-RAA32-120 32 120 102 82 19 P = _ _ e CCGT0401
BCA2s M3B2 M3B2 M3B2TC M3B2TC M3B2TC TBGT060102
23 29 249 309 1.9 TBGT060102
BCA20 M3A2 M3A2 M3A2TC M3A2TC M3A2TC TBGT060102
29 41.8 309 43.8 19 TBGT060102
BCAsE M5B2 M5B2 M5B2TC M5B2TC M5B2TC TCGT110204
38 492 40.9 52.1 19 TCGT110204
L H BCAds M5A2 M5A2 M5A2TC M5A2TC M5A2TC TCGT110204
| 46 66.6 48.9 69.5 19 TCGT110204
Il RING HEAD Unit: mm BCAG2 M7A2 M7A2 M7A2TC M7A2TC M7A2TC TCGT16T304
D1 |D (BORE RANGE) 62 87.4 62 87.4 0 TCGT16T304
(h7) | UNIT BCAs3 M7A2 M7A2 M7A2TC M7A2TC M7A2TC TCGT16T304
RH32-BCA140 140 197 102 M10A2TC | pr— b 83 1084 83 1084 0 TCGT16T304
e o || 5 e RO i B0 M10A2 M10A2 M10A2TC M10A2TC M10A2TC TCGT16T304
RH32-BCA242 32 242-299 45 | 184 | 82 | 14 | 103 MI10A2TC 1 1 98 1424 98 1424 0 TCGT16T304
RH32-BCAZ93 | 32 293-350 2 | 233 a2 | 12 | 103 [MioAzTC \ BCA132 M10A2 M10A2 M10A2TC M10A2TC M10A2TC TCGT16T304
RH32-BCA344 @ 32 344 - 401 45 | 284 82 | 14 103 |M10A2TC 132 176.4 132 1764 0 TCGT16T304
N 166 2104 166 2104 0 TCGT16T304
BCA200 M10A2 M10A2 M10A2TC M10A2TC M10A2TC TCGT16T304
200 244.4 200 244.4 0 TCGT16T304
D282 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D283




TOOLING

SYSTEM

SK
(DIN 69871)

CBT
BT DUAL
CONTACT)

BT
(JIS B6339/
MAS 403)

HSK
(DIN 69893/
IS0 12164)

STRAIGHT
ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
&PARTS

7o

MICRO BORING

BAR

MICRO UNIT SPARE PART

ORDER No.
PART NAME

GRADUATED DIAL UNIT / LOCK SCREW AND WASHER

2-40 3-40 5-40 5-40 7-80

=

M10A-B

Slant
1 DIAL NUT b 1-40 10-80
Right
DIAL NUT A 1-50 2-50 350 550 550 7-100 10-100
EQETTR'DGE M-A F-M3-05-8 | F-M3-0.5-12  F-M4-07-15  F-M6-1.0-25 | F-M6-1.0-25 | F-M10-1.5-30 M12-1.75-50
2
EQETTR'DGE M-B | M-M3-05-6 M-M3-05-10  M-M4-07-12 M-M6-1.0-20 M-M6-1.0-20 M-M10-1.5-25 M12-1.75-35
3 INSERT SCREW $1845L5 $1845L5 5204516 $2555L6 5255516 409516 5409516
4 T-WRENCH T6 T6 T6 T8 T8 15 T15
5  SPRING WASHER - cB-2 B-3 B-5 B-5 B-7 CB-10
6 MOUNTING WASHER - 2306 3306 5306 5306 7306 10306
7 | L-WRENCH WR-2 WR-2 WR-2.5 WR-4 WR-4 WR-6 WR-8
8 SPANNER GS12 GS12 GS35 GS35 GS35 GS710 GS710

D284

phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions

%G YG-1CO, LTD.

7o

MICRO UNIT SPARE PART

l DIAL NUT

MICRO BORING

BAR

PART

GRADUATED DIAL UNIT / LOCK SCREW AND WASHER

Voo

%

N’(o

Q

\

v

Unit:mm
I Y S A S TS B N
M1 9.53 6.99 445 254
M2 12.7 9.53 5.08 3.30
M3 15.88 11.3 5.59 3.56
M5 25.4 19.05 8.76 483
m7 34.93 25.40 11.68 7.1
M10 44.45 34.93 13.84 7.49
E
F
+z A
) Eﬂ} - —— = ] — — -
(s
o¢
H C Min.
B Max.
Il CARTIDGE BOLT Unit: mm
szl A/ 8/ C | 0 | E | F | G
M1 M3 8 6 - - - -
M2 M3 12 10 7.82 1.83 0.5 45°
M3 M4 15 12 10.9 246 1.0 45°
M5 Mé 25 20 15.7 4.32 0.8 37°
M7 M10 30 25 23.7 6.35 1.30 37°
M10 M12 50 35 31.6 7.92 2.5 37°
4G YG-1CO.,, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutons D285

TOOLING

SYSTEM

K
(DIN 69871)

CBT
BT DUAL
ONTACT)

BT
JIS B6339/
AS 403)

HSK
{DIN 69893/
SO 12164)

STRAIGHT

ISO, NT,
MTAMTB,
GOST

TOOL
HOLDER
SET

BORING
SYSTEM

ACCESSORY
& PARTS




TOOLING
SYSTEM

TOOLING

SYSTEM

'I/G SQUARE BORING 'I/G SQUARE BORING
BAR ~esa BAR
onssss SQUARE BORING BAR (45°) SQUARE BORING BAR (90°) K s
VIERKANT - BOHRSTANGE VIERKANT - BOHRSTANGE
CBT | GARRAPORTATESTINE SARRAPORTATESTINE car
C B,E%UCAT'; BARRAS DE MANDRINAR CUADRADAS BARRAS DE MANDRINAR CUADRADAS BgNDTLA%IT)
BT BT
(JIS B6339/ JIS B6339/
MAS 403) ' FIG.1 L FIG.2 L AS 403)
HSK M 15 HSK
Q) hs B
STRAIGHT ‘ STRAIGHT
C o=
ISO, NT, =J D 1SO, NT,
MTAMTB, MTA/MTB
GOST GOST
TOOL TOOL
HOLDER HOLDER
SET SET
) ) e )
s [ 5. A 8
BT | == A BT J == A
ACCESSORY ACCESSORY
e BT (JIS B6339/MAS 403) BT (JIS B6339/MAS 403) e
- Unit: mm Unit: mm
(Kg) (Kg)
BT30-BSA25-120 25 38 120 1.00 BT30-BSB25-120 25 50 120 1.10 1
BT30-BSA30-135 30-42 135 24 26 8 105 1.10 30 BT30-BSB38-150 38-70 150 30 33 10 120 1.50 1
30 BT30-BSA38-150 38-52 150 30 33 10 120 1.40 BT30-BSB50-150 50-90 150 40 44 13 125 2.20 1
BT30-BSA42-150 42 -56 150 34 37 10 125 1.60 BT40-BSB25-135 25-50 135 20 22 8 108 1.30 1
BT30-BSA50-150 50-65 150 40 44 13 125 1.80 BT40-BSB38-180 38-70 180 30 33 10 153 1.90 1
BT40-BSA25-135 25-38 135 20 22 8 108 1.30 BT40-BSB50-180 50-90 180 40 44 13 153 2.60 1
BT40-BSA30-165 30-42 165 24 26 8 138 1.50 BT40-BSB50-225 50-90 225 40 44 13 198 3.10 1
BT40-BSA38-180 38-52 180 30 33 10 153 1.80 20 BT40-BSB62-180 62-115 180 50 56 16 153 3.40 1
BT40-BSA42-210 42-56 210 34 37 10 183 2.30 BT40-BSB62-225 62-115 225 50 56 16 198 4.10 1
BT40-BSA50-180 50-65 180 40 44 13 153 240 BT40-BSB72-180 72-135 180 60 66 19 153 4.70 1
40 BT40-BSA50-225 50-65 225 40 44 13 198 2.90 BT40-BSB72-225 72-135 225 60 66 19 198 5.60 1
BT40-BSA62-180 62-90 180 50 54 16 153 3.20 BT40-BSB90-180 90-150 180 75 80 19 153 5.70 1
BT40-BSA62-240 62-90 240 50 54 16 213 4.20 BT40-BSB90-225 90-150 225 75 80 19 198 6.60 1
BT40-BSA72-180 72-110 180 60 63 19 153 4.40 BT50-BSB25-135 25-50 135 20 22 8 95 4.10 1
BT40-BSA72-240 72-110 240 60 63 19 213 5.70 BT50-BSB38-180 38-70 180 30 33 10 140 4.80 1
BT40-BSA90-180 90-125 180 75 63 19 153 5.40 BT50-BSB50-180 50-90 180 40 44 13 140 5.50 1
BT50-BSA25-135 25-38 135 20 22 8 95 4.40 BT50-BSB50-240 50-50 240 40 44 13 200 5.70 1
BT50-BSA30-165 30-42 165 24 26 8 125 4.60 BT50-BSB62-195 62-115 195 50 56 16 155 6.40 1
BT50-BSA38-180 38-52 180 30 33 10 140 4.80 5 BT50-BSB62-270 62-115 270 50 56 16 230 7.90 1
BT50-BSA42-210 42-56 210 34 37 10 170 5.00 BT50-BSB72-195 72-135 195 60 66 19 155 7.30 1
BT50-BSA50-180 50-65 180 40 44 13 140 5.40 BT50-BSB72-285 72-135 285 60 66 19 245 9.60 1
BT50-BSA50-240 50-65 240 40 44 13 200 5.70 BT50-BSB90-210 90-150 210 75 80 19 170 9.60 1
50 BT50-BSA62-195 62-90 195 50 54 16 155 6.10 BT50-BSB90-300 90-150 300 75 80 19 260 12.60 1
BT50-BSA62-270 62-90 270 50 54 16 230 7.50 BT50-BSB105-195 105 - 190 195 90 - 25 155 11.10 2
BT50-BSA72-195 72-110 195 60 66 19 155 6.90 BT50-BSB105-285 105-190 285 90 94 25 245 15.40 2
BT50-BSA72-285 72-110 285 60 66 19 245 9.30
BT50-BSA90-210 90-125 210 75 80 19 170 9.20
BT50-BSA90-300 90-125 300 75 80 19 260 12.30
BT50-BSA105-195 105 - 160 195 90 90 25 157 10.50
BT50-BSA105-285 105-160 285 920 920 25 247 14.80
D286 prhone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO.,, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D287




SYSTEM
- SQUARE BORING
76 PRt

-« SQUAREBITE

(DIN 69871)

B YG-1 TOOLING SYSTEM

BT DUAL
CONTACT)

BT
(JIS B633Y/
MAS 403) 45°
HSK
(DIN 69893/
- _ ’7 D] @ <
SO, NT,
MTAMTB,

GOST «@/ o
] (@)

TOOL
HOLDER
SET

|
Unit : mm HYDRAULIC CHUCKTEST PIECE

ACCESSORY CLASSIFICATION

. casshcamoN |
& PARTS
?--7-0 = HYDRAULIC CHUCK COLLET

SBCO8-45 839 SSB-2506 CCMT0602
SBC10-45 10 10 7 10.39 70 SSB-2506 7 CCMT0602
SBC13-45 13 13 10 136 80 SSB-4009 15 CCMT09T3 SHRINK FIT HEATING MACHINE
SBC16-45 16 16 1 16.68 100 SSB-5012 T15 CCMT1204
SBC19-45 19 19 1 19.68 100 SSB-5012 15 CCMT1204 ER COLLET
SBC25-45 25 25 125 25.68 120 SSB-5012 15 CCMT1204
TAP ER COLLET
ER NUT & SPANNER
SIDE LOCK BOLT FOR EMH
/
(@]
S N\ @ COLLARBOLT &DRIVEKEY FORSMA

DRIVE KEY & MOUNTING BOLT FOR FMA

MILLING CHUCK COLLET & SPANNER

SK COLLET, NUT, SPANNER
TAP ADAPTOR FORTAPPING CHUCK

Unit: mm
CLASSIFICATION

. ciAssiFicATioN |

A | B [ c | D | £ | SCREW | WRENCH | INsERT | PULL STUD BOLT & SPANNER
SBC10-90 10 10 7 104 70 SSB-2506 T7 CCMT0602
SBC13-90 13 13 10 13.6 80 SSB-4009 T5 CCMTO09T3 TOOL CLAMP, HEIGHT PRESETTER
SBC16-90 16 16 1 16.7 100 SSB-5012 Ti5 CCMT1204
SBC19-90 19 19 11 19.7 100 SSB-5012 Ti5 CCMT1204 COOLANTTUBE & SPANNER FOR HSK
SBC25-90 25 25 1255 257 120 SSB-5012 Ti5 CCMT1204

ADJUST BOLT MQL1 FOR HSK

D288 phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions %G YG-1CO, LTD. 4G YG-1CO, LTD. phone:+82-32-526-0909, www.yg1.solutions, E-mail:yg1@yg1.solutions D289




